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1. The primary contaminant included in cigar smoke is

(A) Carbon monoxide and dioxide

(B) Carbon monoxide and Nicotine
' (C)VL(arbon monoxide and Benzene

(D) Dioxicine and benzene

(F) Answer not known

T,

AsQr_ yerasuled o arar pgflane s

(A) smiuen Curarses® LHIIL ML EDFH
(B) armiuer Guneméms® wpmib H&ECsmrmg e
(C)  smiuen Gunammées® wHmib Auenfer |
D) oLasdmsear Hmd Quandlar

(E) e Qsflweldame

2.  When a ball is projected upwards there is an increase in its
| 1. Potential Energy
2. Momentum
3. Kinetic Energy

(AN only " (B) 1and 2 only
(C) 2only (D) 2 and 3 only
(E) Answer not known.

ubms Cwle eaflywCurg o5 GCGuwCGa Gsading. &iUGLIIT@gI ubSed
Spsaar_aupmar argl sfsNESng? -

1. Hleneownpoe (1) srrgﬁu_lmrrw < HDE R

2. eopgd

3. Quésypméd

A) 1w @o : (B) 1 whmib 2 wi G
C) 2w @pw - (D) 2 vogd 3 L Hb

(E) o Qasflweiicena
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3.  Alterations in the environments represent selective pressures upon the
population to which it must adjust. This statement infers that
(A) Organisms will increase in population in a changed environment

(BWganisms which fail to adjust to the changed environment must

vanish

(C) Organisms will alter their morphology to adapt to changes in the

environment
(D) Organisms will change the environment under selective pressure

(E) Answer not known

&@gé@@aﬂ@ FHUGLL LrHPEISET, waseT [ gar Gg,rrmésanu.:# sfl Qe (Ssus&w@u

Camplshssiul L. pssusmers Ghadapar amumg,r 8 iHEns

2 aisgApg) | o | -,

@) wriawb @ s Wfamksd Asnems ofsfash

B) wvmiu GwasE gbu wrpig 2 W@Ramse b él.ll‘f&@;blﬂ@lb

(C) shpémpde ghu@b wrophsEsds gpu Wlamsds shsd 2 (meu
IGnLOLIeNL mnj;QSIé; Ga;rreir@fo

(D) CsipAs@asiiu L oiwsssdan &1 o WAeTREET G WIHHD

(E) aflent AgMweleoena
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The enzyme involved in unwinding of DNA is

(A) Telomerase ' (B%elicase

(C) Polymerase : (D) Ligase

(E), Answer not known

DNA- e @rewn() Qavpsanms Lﬂrﬁuuﬁé) FHUB D ABrd wing;?
(A) QLCGemoCreiv | (B) Q@QS]G’&@"U
(O uraQuwCrei (D) NCseiv
. (E) eQenL. GsMwedenay |
p
The first step in the seed germination is imbibition of water which

induce the

(A) Stimulation of plumule

(B) Breaking dormancy

(C) Growth of radicle

D esumes metabolic activities

(E) Answer not known

dfleng pemarggedlen Wwge Hlaawns Bi e Higrsu@n Cungl, Qg awmg giarGEng?
Q) oo Emsg s LuGADS) -

(B) g 2 pésid g LA

(O AengGeur cuatidlmg;

D) Qs Qussibd gakEds

(B) e OsMwelicranay
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6.  Which is the stronger acid than phenol due to the presence of three same

~ electron with drawing groyps
@  O-Toluic Acid
(1i) Benzoic acid
(1) Salicylic Acid
(iv) Picric Acid
(A) (i) only
(B) (1) only
(C) (i) and (iv) only
(D%) only

(E) Answer not known

Semrere ol aidleow B, wHDD i <SG ool pren sauit Hpen Qe
Qan@daer Gupmerer Sidled 6rg? '

()  O-QLreulé ouflad

()  Querems oibeb | -,
(111) - Fnellfeds =dlevid

(V) 96Ns oo
(A (1) ol @

B wpo

(© () wipd (V) 0o

D) (v) oG

(E) e Qzfweldens
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Which is the one considered to be more important to study the History of

science 1s

(A) Ani_:iquarian curiosity

(B) Logical reasoning

(C) Scientific knowledge

(D)W Conjunction with philosophy

(E) Answer not known

Sfleflwe currpdleans spude B& péunransras smelu{Hn e
(A)  uLpPbAUTmET Bg Sy Taud

(B) siés fHwunss sryeariisnarred

(©) . wdeflud sifley. - '
D)  spgiebgdn @eamiy | |
(E) ofenL Qsfwefdrena

Which one of the following phenomenon cause adverse changes in global
climate pattern and wreak havoc world wide in the form of floods and

droughts?

(A) Carbon Dioxide (B%Nino
(C) Tropical cyclones D) Itai-Itai |

(E) Answer not known

SpsanarrLcuDled ThE ey, 2 s leredldr, QeueTard eupL & eram euigeumsaTleD,
yells sluQeuiu  gpenpseflldy ungswrer wrpprisema gHUBSE, Qupesl -
Cupleysar Fl&spd sTrawTons @)(HESng)?

(A) sfAwde eumy - (B) eréb — AGemm

(C) Qauluwear e @prasef D) @iimi~@lmy
(E) e Gsfweidveme |
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9. Match the following :

(2)
(b)
(©
(d)

A)

B 2
.

o

()

Polyethyleneglycol
Bt Toxin |

Glyphosate

rProline

(a)

3

(b)
4

1
.1.
3

(c)

1
4
3
1

(d

YN W N

(E) Answer not known

Spsaerr_auphenn QumESE s

()
(b)
(c)
(d)

(A)
(B)
©
D)
(E)

CCS1P/22
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(a)
3

9 -

4
4

eflenL Qg Mlwelidvena

(b)
4

S

1
1
3

(c)

1
4
3
1

1.
2.
3
4.
(d

2
3
2
2

Herbicide
Stress Tolerance

Insecticide

Cell Fusion

senemssmeed]
3PS FSLILISSemenLD
&flaGamead
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10. Which of the following statement is/are correct NANOBOTS are : |
(1) Robots that carry out a very specific furiétion at nano scale level
(2) | They can be injected into blood stream : ' : \

)

(3) They can be used to measure toxic elements in the environment

(4) They are very cheap to produce _ S -
(4) (D), (2) and (4)
® (), (3)and (4)
(C)'/ﬁ, (2) and (3)

D) (1), @), (3 and (4
(E) Answer not known

SpssnaruappeT ergl/creey sfwnear sapm NAN OBOT’ Breamur.. sraniu@eug
1) emeEHnGr L ueflow Qsiiu 2.sayb prGemBL L it Serelwrar GrrGUT @b
(@) @ospeop Grip promisaié oL Lisspand |
©) @eupen sHnEEENO o e FEs1 AU Smar éaqmml_ LLETLGESETD
(4) Qapop e pusl dsvag Bs waleaurag | |
A4) (1), 2) vpgwd (4)
B) 1), 3) wppwd> (4)
€) (1), (2) wpgw (3)
@) (1), @), (3) wid> (4)
- (B) e Osfuddaa
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11. was the first mission to be operationalized under the
National Action Plan on Climate Change (NAPCC).
(A) Solar Cities Programme (SCP)
(BWattmnal Solar Mission (NSM)
(C) Solar Green Building (SGB)
(D) Development of Solar Cities (DSC)
(E) Answer not known

sie Hlave wrHmb Gss — Cadlu Qewd S gher Sp QeubuBSSILL 2 6TeT (pge
Liewfl DG,

A)  @fu gl parmse SLb
B) GCsslu EMw qafl Lesf

C) ©w gl usme sy b

D) @w g g,a;uléjé;mﬂésr euaTitss)
(E) ofer Qsflweiicoana

12. Which Biodiversity park in India was announced as the 1st “Other
Effective Area — based Conservation Measures” (OECMs) site?

(A) Tilpath Valley Biodiversity Park
(B Aravalli Biodiversity Park
(C) Yamuna Biodiversity Park
(D) Adayar Ecopark |
" (E) Answer not known

- @BSwrailch 2 arer 6T LGIUIATL LBIST, (PSQOTeUGH LILIGNETAT LGS FTTHe UTgsTLL
genwons (OECMs) eidedsasiulHererg
N Houg LETOTSSNEG LIOSUATY L EGET
(B) %u«m@sﬁ] LIsdgIuR L |E|,réjasrf
(C)  wenr LT LyhigT
D) L wury sHNESYD LmsT
(E) e Opfuelivme
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13.. Which of the following are correctly paired :

14.

(@) (@), (iii) and (iv)

3) KVK - | Kisan Vigyan Kendra
(1) SMAE - Sub Mission on Agriculture Extension
(iii) NSDA - National Skill Development Agency |
(iv) ATMA - Agricultural Technology Management Agency
A) (), (i) and (ii1) (B (11), (iii) and (iv)

D) @), (1), (iii) and (v)

(E) Answer not known

Yemeumpeuereumiicy erg) #flwuing Genamas L (ReTeng ?

@ KVK
(i) SMAE
(iii) NSDA

(iv) ATMA
Ay (@@, (i) wogd (iii)

©) O, (11) wpgo (Qv)
(E) oS Gaflweidvena

- flenen el gnepmen CapyT
Geuernar eflfleunssg gleneT BL_oulg &ens
Calw e Cuwur { apseao
efleusmu Agmleémi L GméJrrG&Tmm APEELD
(B) (1), (i1) wpgrd (iv)
D) @), (1), (i11) wpmb ()

How many number of Ramsar sites are identified in India till

(E) Answer not known

15% August 20227
(A 82 (B) 78
V5 ®) 70

@pHwurele erggenan prbant GLmasdr 15 epsev® 2022 eueny serri il Hidreran?

A) 82
€C) 75

(B) 78
D) 70

(E) eSen QzMwelicrana

11 CCS1P/22
[Turn over

Click here to Visit >> www.govtjobsnet.com




15.. PM Gatishakti is a transformative approach for economic growth and
Sustainable Development which focuses on

(A) Educational Development (B)\‘fltlmodal Connectivity
(C) Empowerment of SHGs (D) Environmental Development .
(E) Answer not known o -

PM sdls5d aramug Gun@a_‘rng;_mf cuemiié opmd Flepevowirar suenitedlissen rHmy

AMG P@PLTGD B3 o sauend deqibgiflng.
(A) s aiarisd - (B) uergps @émmm _
(C) SHGs-é oflem . D) spmiiuw @pfema cuariss

(B) o GsMweticoana

16. Which one of the following is NOT an objective of the Union
Government’s ‘Beti Bachao Beti Padhao’ scheme?
() Prevention of gender biased sex selective elimination
(11) Ensuring survival and protection of the Girl child
(ii1)) Ensuring education and participation of the Girl child
(iv) Crtfeating‘._n,r a fixed deposit in the name of the Girl child concerned

A) @only (B) () and (ii)
(©) Gii) only AN (m%) only

(E) Answer not ‘known

SDETRTLICIDMIGT GTH) Gt_n_lq. usGsr, Guiiy usGsn eTayld @m@u_l .@411#16&1 QL_L_QQGUT
Crrasb Hentwing)? ,
»  urder a;uq,m uenL ullevmen Gg,r'rsq baasfenens seoL Qeipe
| (1)  Quewm Bhmssaien aumpey wHHID LTGSTI@en Lguﬁ] Qelige
(iii)  Quar GHmssaian shed LHHID LGapAear 2 il Qe
(iv) sbupsiUCL Quer @ggmgsuﬁlm Quuiler Hrbsr alinyg Gg,rrmamu_l

- gpubsgIse |
A @) wew S (‘B) i) wppid (i)

(B) efan Qpfliwefidana ' : :
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17. Read the list given below carequy of di'gnitanes‘and find out amohg
them the correct hlerarchlcal order with respect to their rank and
precedence

(i)  Chief Election Commissioner of India

- (11) Cabinet Secretary
(111) Chief of Army Staff - .
(iv) Deputy Speaker, Lok Sabha .

(A (@), (i), () and (i) - (B) @(v), (1), (i1) and (1)
(CMi), (iv), (i1) and (i1) (D) (1), (1), (iv) and (ii)
(E) Answer not known .
&Gy Qan(pssiiu’Heter 2wf ugel Sigeuwisaiidr ulyumas sallss seuisedr
ugefluflen g LuenLudeomen ez Menwoll Ligflenets UL igwenaws semLHs.
D Qodu g,smsuand Cairge %QDGMTU_I&
(11) 5P SimwEsTmaE QLT -
(iil) swwow Grrame s
(1v) wasaTee GEeTS SO |
A)  @v), (1), @) wppd (11) (B) (iv), (iid), (i1) wpmus (1)
€ @, (v), Q1) wpmo (111) D) @), (i), (v) wpmib (i)
(E) e Qsflueiavame A ' '

18. 'Whlch is the international coalition of solar-resource rich countries that
are collectively addressing common challenges on solar-energy
applications? :

(A) Igternational Solar Energy Society (ISES)
(B International Solar Alliance (ISA)
(C) International Renewable Energy Agency IRENA)
(D) International Energy Agency '(IEA)
(E) Answer not known -
Gilu hped LweaLrhsaiied Qurgeuns 2 drer saurdsemer STULG GOSS smiLTs
Meundlés o meunar — @Mw euatd WGHS BrHsaflen sl L apiliL 61g)?
Q)  siuGss @i suHod sapst> (ISES)
(B) sieuCss @ Mw 568 sl Lenfll (ISA)
(C) siauCss g19&s6858 <pnd apaemw (IRENA)
(D) &reuGse < hped waew (IEA)
, (E) &L Qsflueidame ,
B - | 13 o  CCS1P/22
' {Turn over

Click here to Visit >> www.govtjobsnet.com




19. Arrange the following Indian Women Olympic Medal Winners in
Chronological order '

1. Saina Nehwal

2. Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

@A) 2,4,1,3 B) 1,4,2,3
CWVT 1, 3,2 D) 4,1,2,3
(E) Answer not known

galloids Gumliguied usssd Qesn deaapn Qb wealler staeaflasiiug.

popuUBSsaD

1. eeenm Apeured

2. weuddem QurTGsrenga

3.  &na§ omels | |

4.  siemb weGevaveul

@ 2,4,1,3 (B) 1,4,2,3
(©) 41,32 D) 4,1,2,3

(E)  ofen Qzfledena

20. Palmer index is associated with which of the following natural aisaSter?
(A) Earth quake - (B) Volcano
(CWDrought | (D) Flood
(E) Answer not kno%avn

urdwi GG Spsramibd @ Qubhans FHDECHTH G e wg
(A) Heop@ssbd . (B) erflivepev

C) aplih (D) Qauéramp
(E) oo Qsfwelicoeme '

CCS1P/22 . 14 : B
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21. Match the following and choose the correct option relat-ed to ISRO :

(a) URSC 1. ISRO’s virtual space Museum

() ITTP 2. ISRO satellite centre |

(¢) SPARK - 3. Space science for school students
(d) YUVIKA | 4. Technical training for ISRO staff

@ ® ©
A) 2 3 4 1
® 3 1 4 2
cw? 4+ 1 3
M 4 3 2 1
(E) Answer not known

ISRO Qgniumer &lc.'pa;rremué.lgj)mm Qurmsd wHmb  slwrer  fleneow

CaibolsHiése|bd
(a) URSC 1. ISRO aflen eflirgaeucd cvGued Blydlubd
() ITTP 2. ISRO gioansCandr faawl '
(¢) SPARK 3. uarefl wremaisEnéanen aflamCeiaf Gifiafwd -
(d) YUVIKA 4. ISRO &fler uamﬂ@nmfra;@ésa;rrm Qsmfled HILUL
LG |
@ ® © @
(A) 2 3 4 1
® 3 1 4 2
(C) 2 4 1 3
D 4 3 2 1
(E) dfler Qsfweiicvaney
B - - 15 | CCS1P/22
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22. On April 10, 1802, the Great Trignometrical Survey of India Commenced
its work from _ city.
(A) Delhi . '(B) Calcutta
(C) Bombay ' Md_ras

(E) Answer not known

@bHUL wsCarameic ey Bmesnd guiged 10, 1802 — wyb a6
pafléd geang elamans Ggm_mdwg).

N | (B) sosszm

(C) LM : ' (D) wgyrev

(E) e Qsfluefdamea |

23. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022
Nobel prize in Chemistry for?

(A)\/For the development of click chémistry “and bioorthogonal
chemistry - '

(B) For discoveries concerning the genomes of extinct hominins and
human evolution . :

(C) For the development of asymmetric organocatalysis

(D) For the development of a method for genome editing

(E) Answer not known |

sGyradlesr QuAGLmedl, CGumiLenr Qweére wHpmbd Cufl eagmideien < ACuwimT

2022 gib g a@rRésrar Gauuluialler ergpars Crmue Lflens Qeuenpri? -

(A) Hafts Qsfiev M wHmib LGN TECsTS® Qsficvol Muden quanitéfians

(B) <=ifbgCurer Capmiaflansafian wru@sseT Log)guu) weflg Lflermob ubdlu )
sy LI SEnEaTS

(C) sw&sppp yisCamar_dlfader cuariéfEsns

(D)  wrugy engt g apepullen euaiEHEsTS

(E) e QsMweldena |
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24. Match the winner of medal in common wealth games 2022 with their

sport.
Player

(a) Sharat Kamal
(b) Lakshya Sen

(¢) Mirabai chanu
(d) Nikhat Zareen

(@
@ 1
&5
©) 4
O 2

(b)

2
4
2
3

(¢

3
2
1
4

Sport
1. Boxing
2. Weight lifting
3.  Table Tennis
4, Badminton
(d)
4
1
3
1

- (E) Answer not known

smwer  Geuwvg 2022  eflenemiim’_iged ugeisé;Lb Qevenpeuitsemer  Dleuisang
ellenemuim’_ (R QUiTSSIS :

eflenemum_(H eSgm | efleverwim_(p)
(a)‘ GCagyL- Swed 1.  @sg s
(b) eseSiwur Qsen 2. uEsEIEEED
(¢) Syrumi smgy 3. CSLongg LbS)
(d) ﬂ#asr'_aq,rﬂén 4. yupgy

@ ® ©© @@.
A 1 2 3 4
B) 3 4 2 1
(C) 4 2 1 3
D) 2 3 4 1
(E) efler GzMwelicrena

17 | CCS1P/22
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25. Which one of the following Indicator is not used to calculate Human
Development Index (HDI)?

(A) Life Expectancy - (B%?I
(©) EducationIndex (D) Per Capita Income

(E) Answer not known

Gémeumeuanaupiled eThS h GHlET 1y wallgeuer GobUT . (& GHlUL eLs samsdL
pwetuhEsL (Heudlarenen? N

(A)  eumpprer GBNQJ.&IGTGLI (B) msiCeuni eflenen @@uﬁ@*

©)  sied &HSG (D) pafpuiapuren

(E) ofenr Qgrﬂﬁaﬁ]é)ma)

26. “Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about

(Aﬁtatewide Block chain infrastructure

(B) Source of resident data fof Tamil Nadu

(C) Unified access to e-services of different government departments
(D) Providing professional resources and training to decision makers

(E) Answer not known

“Nambikkai Inaiyam (NI)” s0ppr® <6 HCLtb LpBug

(A) | wrhle wpueugb Block chain o ¢l 1wl

(B) slpnrgperen @gwfienw greysaflear gy smib

(O uveGeamy sipsmmass @mg)as_aﬂéin e-Comaus@haEasTan Q(hiHamambe <Ig s
(D) (y)q;Qw@uﬁmﬁ&@é;@ Qg mflevgieny cueTmGaT OHMID Lullpsamar GuiprkIEGSe
(E) e&fen Qzfiefdena |
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27. Which is correct?

(@) HYV -~ High Yielding Varietieé»
(i) MSP - Maximum Support Pfices
(i) PDS - Public Distribution System
(iv) IPM - Integrated Pesticide Management
(&) (), (i) and (iv) only
(B)A and (iii) only |
(C) (1), (ii) and (iii) only

| D) (i), (ii) and (iv) only
(E) AnSwef not known
P
(1) HYV - oifis damendsed @i cuansser
G) MSP — siflsuis aysre dlleow
(i) PDS - Qung SPCUs gpavp
@) IPM— gaidmanss Lsfsarod Coareames
@ @, ) wppid (V) 0o
B) () wppid (i) w i
(Ci @), (it) wppw (1i1) w Eb
O ), ) s () oG

- (E) e Qsfudidme

B | 19 S CCS1P/22
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28. Kalaignarin ‘Anaithu Grama Orunginaintha Velan Valarchi Thittam

aims at

1. Increasing the cultivable area -

2 Bringing fallow land under cultivation

3.  Changing the crop pattern with introduction of new crops
4 Augmenting water resources

(A) 1,2and 3 are correct

(B . 2, 3 and 4 are correct

(0%2 and 4 are correct

(D) 1,2, 3 and 4 are correct

(E)

Answer not known

soaElar simaisg Mo @ERdmahs Gmdrrraim cuarisd) S sdlem @és_;%]uJ

Crr&sLb

1.
2
3.
4
A)
(B)
(©

(D)
(E)

ccsip/2z

snGUG. urLeu SlElléEs Qeliged
QL THg) Hlosems F1ELIGEE QsTaRT(H eubseD
yw vullrsemer sflapsliLBggieugen ppald LW (peomen THHISH |

B %g,rrqrm;mm QUBEEGSD

1,2 L‘D,fiJngLb 3 gy fwener &M
2, 3 wpmd-4 yHuee s
1,2 oppd 4 gpueme s

1, 2, 3 womwb 4 ydwee &f
AL Ogfueidema

20 | - B
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29, Match the following :

(a) 1997
(b) 1998

(©) 2006
(d) 2009

(a)
(AVW3
(B 4
©) 4
D) 3

(b)

4

3
1
1

(©
2
2
2
4

AW

(d)
1
1
3
2

(E) Answer not known

pssan_aipopi QUTEGSSS
(a) 1997 1.
b) 1998 2,
(© 2006 3,
(d) 2009 4.
@ ® @ @
@ 3 4 2 1
B 4 3 2 1
© 4 1 2 3
3 1 4 2

(B) eofler Qgflwiefdvena -

Anaithu Grama Anna Marumalarchi Thittam
Varumun Kappom Thittam

Samathuvapur_am

.. Namakku Naame Thittam

Sidansgl EIID ST YoeTFAE S LD
aumLper amiGumd L b
FGGIeuL|TD

B&@E BTG Sl L1

.21 ' CCS1P/22
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30. Which among the following is a scheme of Govt. of India for ensui'ing
the safety and dignity of sanitation workers?

(A) Smile
(B)/ﬁamaste
(C) Amber
(D) West

(E) Answer not known

JEN] LA é{ljﬂein Geneumid Hilt BSEHeT gL Te @g,frgé]ammr’r&aﬂ@r un@jasrrumuu.@,
diemuwb 2 mfl Qalieug) erg? o

(A) evenibéd

', (B) bwevCs -
(C) ewur
(D) Qeusvi_

(E) eflanL Qsfluefeene

31. During which Period Bronze Icons of Nataraja deity with four hands was

casted?
(A) Chera Period " ®BMhola Period
(C) Pandiyas Period : (D) Shunga Period

(E) Answer not known

aThE STELL SN BranE @ssEhLen Fmiqw pLITgfler Qeustss Sererhise

QUMTTESIILIL_ L6817
(A) Gsrit sred : (B) Gsrfl‘.pr'r STEVLD
(C) unewTgwi sreld -, (D) sris srevd

(E) e Qsflueidame
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'32. Match the following Acts with its corresponding years :

(a) Madras Wild Elephants 1. 1882

Preservation Act
(b) Tamil Nadu Forest Act 2. 1980
(¢) Forest Conservation Act - 3. 1972
(@) Wildlife Protection Act 4. 1873

@ O © @

A4 1 4 3 2.
esv?i 1 2 3
© 2 3 1 4
M3 2 4 1

(E) Answer not known |

Meteu(mLd &L;@&mm'ag@qn@ G}grn_r'rqsm_@ 2 @mhHaGarm( @un@é;gm;T

(a) wsymev cuET WITQTEET urgsmoyseln - 1. 1882

(b) SOPBHTH Guan& FLL 1D 2. 1980

(€) euer uTgIBTILF L 1D . 3. 1972
. 4, 1873

(d) euen eleri@aer LTgSTULEF &L LD

@ o @© @
A) 1 4 '
B) 4 1
€ 2 3
D) 3 2
(E) e Gsfucideme

A R N W

2
3
4
1

B 23 . CCS1P/22
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33. Which of the following statements are true in respect of
Dr. Muthulakshmi Reddy?
1.  She was the first woman in India to get a degree in medicine.
2.  She was the first woman Legislator in British India.
3. She was the first female student to be admitted in Maharaja’s

. college.
4.  She was the first woman President gf the legislative council.
(A) 1,2and 3 (BY' 2, 3and 4
(C) 1,3and4 ‘ M) 1,2, 3and 4

(E) Answer not known

LTsL. pssQeesdl  Qrlgew’ Quimsseuer Gaeumnd  spmsaie v 65
O_GRTENLOWITENS;) ? ' '

1.  @sdHunede wmsgseusso Ul b QuDD PHL Ut Lo,

2. Ol gey @bHureden s &L oenn o mlilenyrarnT.

3.  wsmyry sdgridd Geibs upse Qe wrarrellwimeurt.

4. sl seulen apsed Guekr SEEEUTTEUTIT,
A 1,2 vpmw 3 , B) 2, 3 wpmw 4
©€) 1,3 wpmw 4 D) 1,2, 3 vpmw 4

(E) ofen Gzflwefeena

- 34. The significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016
(A) Modifications in three-tier system
(B) Constitution of District Planning Committees

(C) Transferred specific functions and powers to Panchayats from the
State Government

(DWO percent reservation for women
(E) Answer not known.

SOWETH LEhsTwsg Tre (5L Slmss wGsrsT) #L LW 20166 HpliLbsd
(A)  epan®sE wonwld LrHpUULL S
(B) wral_ L& @@és&.meT DS SE)
(C) GHLAL L sifsmrisaar wihle Sirdel@mba) LEFMUSESE5HE wrmplul.Ls)
M) 50 s5c0dls QL pEI6EH QuanseniE AsrHESILL LS
(E) elen Qsfweleme
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35. During the early re31stance against the Brltlsh who issued the
“Tiruchirappalli Proclamation” : -

(A) Veerapandia Kattabomman (B) Velunachiar
(CWMMaruthu Brothers = (D) Puli Thevar
(E) Answer not known
WfCawTsersE afyran %uwua;rrw - efliuden  Gung ﬁ@aﬂqnuumaﬂ
rsLenpeng” Qauafludl Lcur ‘
(A)  eSgunedmgw s Qumboes - (B) Geug)_f mrr#ﬂu'.lm'r ;
- (C)  wmg sCangyisdr (D) yeig Cgeurt
(E) & Qsfluefama

36. Match the following :

Name Related to
(a) Swami Sahajananda 1. Oppressed Hindus
() M.C. Rajah 2. Tamizhan \
(©) Pandit Iyothee Thass 3. Nandanar Kalvi Kazhagam
(d) Veeresalingam 4. The Widows Home
( ® © @
(A 1 2 4
B 1 3 2 4
<1 ,2 3 4
D) 4 1 2 3
‘(E) Answer not known
QuTmESHS |
Quuwi | QgmfyeLwg)
(a) seumdl SSRGS 1.  siwpev® aflan@Ben - ;
(b) M.C. grgr 2. gflpen
(€) uemgl HCursHne 3. pheet sHlE Spaid
(d) &iGrsiifusp 4. éﬁl,sa)m @eaid
@ o @© @ o
Aa 3 1 2 4
B) 1 3 2 4
© 1 2 3 4
D 4 1 2 3
(E) e Qsflwuaidens
B - 25 | . CCS1P/22
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37. Assertion [A] : Human Resources is necessary for the progress of any

country

Reason [R] Investment in educatlon and health of people can
result in a high rate of returns in the futtire for a
country

(A Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R)] does not explain [A]

(C) [A] 1s correct and [R] is false |

(D) [A]is false and [R] is true

(E) 'Answer not known

awmpm [A]  : ahs @m Brigen GuburligHEd wells eerd oFHurafluwrs
Bosdng. ‘

smyeord [R] © sl whmibd wésdr posHid wss® Qelieuser efearauns Bl i dn

' adlit srwGHe fla sieray Leer fepL_&GLD. |

(&) [A] wogd [R] @reanGib shunerg wppi [R], [Alee erseng

(B) [A] womb [R] @uesr@o sfwneng [R], [A]leves cleréseldamar

(C) [A] sflwrnens) wpmb [R] seupreng

D) [A] seupreng wpgn [R] sfwreng

(B) e Qsfueidveame

’

38. Which among the following institutions secured no. 1 overall rank
according to national institutional ranking framework?

AMTIT, Madras (B) IISC; Bangalore
(C) AIIMS, Delhi (D) IIT, Bombay
(E) Answer not known : :

Qeraumd Ppeemisdiie ag Csflu Hpeuer g7 sl LamoibGar Ly @l QLTSS
sraflansuiier gl szt AUDDE? '

(A) IIT, Qsenwen (B) IISC, Quiisgyi
(C) AIIMS, QL . - (D) IUT; giverrs
(E) &flen Qsfwelvena -
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39. Match :

Tinais ‘Their Gods |
 (a) Kurinji _ 1. Kali
‘() Mullai 2. Murugan
(¢) Marudam 3. Indra -
(d) Palai 4. Tirumal

@ ® © @
a3 4 1 2

®) 35 4 2
(CW2 4 3 1
D) 4 2 3 1
(E) Answer not known
Qun@wa;
g_f,]mswr . sLeyar
@) eieh srefl
(b) (l,osi)ansb. - (P(IHSE .
© wosd QibSnen
() urewe $(mLomed
@& O ©

A 3 4 1
B) 1 3 4
) 2 4 3
D) 4 2 3
(E) aferL Qsfwefidena

= W
S

40. Gandhiji established as ashram at Sabarmathi. Likewise an ashram was
~ established in Tamil Nadu b_y Rajaji. Where was it established?. '
(A) Madurai | | (B) Vgdaranyam -
- (C) Salem L - hiruchengodu
. (E) Answer not known '
'asrr‘m@utq.am suingl erengiLd @L..g@m @M BAywoid a.m;surr&éﬂwrm .=9|C3§ Guned
@ungngl silpssfle e %eﬂmou) e meunsElarir. erhiGs Siang a_@eurrséleurrrrr?

(A) wgeoy g (B) Geugyeimud
(C) Gsaw (D) wmé@sniGan®
(E) oo Ggfucieeme S ,
B o o .2 ~ CCS1P/22
' ' . [Turn over

Click here to Visit >> www.govtjobsnet.com




41. Which of the foilowing statements are true about Ramalinga Adigal?

() He started the Samarasa Suddha Sanmarga Satya Sangam
- 1n 1865

(i) He was against caste system

(ii1) He established Satya Dharma Salai in 1867

(A) '(1) is true

(B) and (ii1) are true
(CW (1), (1) and (i11) are true | _
(D) () and (1) are true - ‘ | | o,

(E) Answer not known

Qéﬂ@@mm@ﬁ)gm Qrmoalbis Sjgadr LHBlul 2 @reLowITar Sabhy 6TEi?

1) @rmodiE i &6 SO S55 FATOTTES SHWLI srsseg 1865-0 gymb9gsmt
(i) Qrmodinis Sigsa QAL PSS aflpnaneutt

(iii) @rmodits sigasdr 1867-o ssw sitw srenwenu Hipedermiv

(A) (1) vl G 2 @rewLLTES N |

(B) (@) wpmo (iii) wr @b 2 GTEILDILITETS)

(©) (), 01) wpmpw (111) 2 awemwWTETFE

D) @) wpmd (1) Lnl;@Lb-asdvrmmUJrfmg

(E) oo Qsflusidame /

-

42. Find incompatible pair in the following :
(A) Pradhaba Mudhaliar Sarltlnram - Veda’najragam Pillai

(B)/Sugunasundharl -~ Nadesa Sasthiri
(C) Kamalambal Sarithiram ' — ‘Rajam Ayyar

(D) Padmavathi Sarithiram — Madhavaiya
(E) Answer not known ‘ o

QummpsT Qemamens sar_Hls

A)  Qogmu @gaﬂunn&rﬂg@rjm - Caugpmuatd Qérever

B) @ Fpsl - pBOLs srevdif
(C) swerburedr sAgHmd S = TRl S
D) uswraud sNsHyd - oTs@euT

(E) e Qsfwefdena

CCS1P/22 ﬁ o 28 | . 5

Click here to Visit >> www.govtjobsnet.com




43,

44,

() e Qsfuciene

In 1921 at Erode, E. V.R. picketed toddy shep Two women also

~participated in picketing. They were the first women to be arrested for

plcketmg toddy shops in Tamil Nadu. Who were they?

(A) agammaiyar and Kannammal -
(B) Nagammaiyar and Moovalur Ramamu'tham Ammalya.r |

(C) * Kannammal and Muthulakshmi Reddy
(D) Maniyammiyar and Nagammalyar
(E) Answer not known

FCrrlgeé 1921-b e r.Cau. g gLIS]Q‘I_T)rI'I_I.q.GD asm@esa;mf_ wdlwe Gumgmie b

Brgdami. 2LCung Qrean® Quekser oeuLen Capel oflwer Gumym_ L gée

FHULL . euel@ duaksdr sial = SeTEhEEML wilwed GurnIm_Lgsﬁm
FRHULLSDENSE @gm@p ebléb engg CFWIUL L GUTSET. BIEUTHET WIFT? .

A) g,rra;msmmu..rrrrr Lng)gjm m‘ramj,n.m.orrsrr _ |
(B)  prsbepwowni LOHHID peIGTT @TMOMBTSD ST
(C)  semamblomer PMId ApSgieoL.sisl Gl

(D) wveflwbewwrT LHHID BrEDELOWINT

(E) aflanL Qsfwefdane -
Which of the following are correctly palred"

1. - Nizhal Thaankalgal S - = Valgunda Swam1gal _
2. Hindu Progressive Improvement - Rajaram Mohan Roy
. Society

3. Samarasa Sanmarka Sangam - Vallalar

4. Sejf Respect Morality -~ =~~~ Vedanayagam Pillai
(A)Afmd 3 o " '(B) tand2

©) 1lonly , (D)12and4

(E) Answer not known

2T, CAN Giufr@gg,uuu_ Geprig.sears Gg,rrp@g@as&mm

| ‘r_F)lkpGu BRI HET ~  au@aTL SeumEeT
2. @& epdCursg paGanpp ShsD —  gUgmymb Gmrrasm I]'ITUJ
8. swpsseOMiES SEED R  QUETETTITT

4. swoflures b A ~  Geugpmusid I_Cl]GTGIDGT

A)  1wppo3 | - (B) lopgh2

©) lwoipw . M) 1, 2whmib4 -

2 o CCS1P/22
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45. Choose the correct kural for the égplanation given below :

It is more pleasant to hold the dart that has missed an Elephant than
that which has targeted the hare in the forest.

(A)\/Kaana Muyaleydha Ampinil Yaanai '

Pizhaiththavel Endhal Inidu
(B) Aakaaru Alavitti Thaayinung Ketillai
- Pokaaru Akalaak Katai |

(C) Kettinum Untor Urudhi Kilagnarai-
| Neetti Alappadhor Kol

(D) Ulluvathu Ellam Uyarvﬁllal Matradhu
" Thallinum Thallamai Neerthu

(E) Answer not known

Epasnapiid Qun@@&@fﬂu Hmsapoe Agfey Asiis. - |
APw srfluksefiCa qpwenny Qeauphl Gupems QEIL; 'Q;ulﬂtule;;rnﬂu_.uﬁla;aﬁcw ey
Camevelll Siencugy Hpuy ' | T
(A)  sren d,ou.;@cuuhg <bifefe wrenar
| | Yenps5Ceucd eTbge G g | |
(B) Qbsrrg Sierelll g srullgym Csiy dena
GUNETY BIGOTE S |
(C) GCsluygib 2 &rCLnri o pd Haeargsen
| Bl semiiuGgmit Gamed |
1)} ;-J_dr@m Qe 2 wifeyeTere mﬁ)pg
perefigp poraman fige
(B) o Qpfucioms
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‘ 46. | Mat;:hth_e, following books with their authors and find the‘corr_ect order : |
(a) Ulgga'm Sutrum Than:.\il'.an R - Desiya Kavi
(b) Ghaharatha.m | _ 2
~ (¢) Thanneer Thanneer 3. ' Ve. Ramalingam
(0 EnKadhai 4

Swaminathan

A. Karuppan |

@ & © @
@ 1 2 3
B 2 1 3
©s3 4 2
ovf 1 2
(E) Answer not known |
LIL'.lt}.u.IG'D. I-@6 odmer mOS®E UL iguid H-g& eerar me & Mwirs@rL_e
Qunmss, &Cyp G&n@éﬁ&ﬂui@dfm @gﬂuﬁ@&@m&% Qerar@® sfwmer ‘eﬂmll_mu.ng's

W o A A

CainbOsHEsayD.
Cuguel LnLu;us’o II

(a) casb &p’)gl.b Fiflpen | 1. (Bgsé?lu_n’s'é_ssﬁls

(b) esremsn - ' 2. samfprgdr -

© povalipanafi 3. Go@ymodisd

(d) crén sang 4. g.smluen
@ ® © @

@A 1 2 3 4

@ 2 1 3 4

©C 3 4 2 1

4 1 2 3

(E) Gﬁlm;G,s{ﬂu_leﬂéJa)w

B - I ! o | CCS1P/32

[Turn over

Click here to Visit >> www.govtjobsnet.com




' 47. Who said these lines to whom?
“Maarivaram koorin mannuyir illai
Mannuyir ellam mannaal Vendhan”.
(A)Wﬁanimegala deity to Udhayakumaran
(B) - Sudamadhi to Udhayakumaran
(C) Dheevathilagai to Manimegalai
(D) Manimegalai to Udhayakumaran
(E) Answer not known

“iprfleumib salen ms&t@m&]fr Eevena

Weingnudlit erevavid WekramtaT Gouppen — ere
Wi ? WnhéE - aTSSS!?

(A) waAGwasmr Agweud 2 HSUGLIDIES
(B) spofesusorimse

(C) SafowswafiCusawss

D) weafGuosma %m@mg@l&,@

(B) oferr Qsflwefdenew

48. “Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”

Who deﬁned death as a undefiable force?

(A) Appar (B)Y Thirumoolar

(C) Sundarar | (D) Manikkavasagar
(E) Answer not known : o

“ar@redembd snly ellEs S HL
Cuflever B&fL1 Gemrd eremy CLALG”

arané ey o aiSgID Herawrewe aGégs mblueui wmi? |
A)  wwui (B) S

(C) apsyi | (D) wrefssansst
(E) QS]GH)I_“G]g;lﬂUJQ(ﬂG'DGDGI.J '
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49. Choose the correct meaning for the following sentences :
1.  Palakudai Neezhalum Thankudai keel Kaanbar

2.  Iravaar Irapparkku Ondru Ieevar

/ _
(A) These two statements appreciates the prowess of the king

: : . [,
(B) These two statements appreciates the philanthropists
(C)¥ These two statements eulogizes the farmers
(D) ‘These two statements talks .about the humble person

(E) Answer not known

Epsangmiib spnsEns@ v QUrSsLoTer Gurr(r;jmmg G};;,rﬂm Qs
1. v Boib stEmLsEpE 'a;frciarur? -~

2. - @nyeuni @uﬂum‘r&@ Grevmy FFéJI'.r.

(A) Qmaﬂ uduré aufls@pib sipsfldr dumenwaws Cusdlaman

B) Qeedgar® afls@nid mﬁmaﬂ@ Quenenwils (Surrgj)gué]érg)m
(O @eueligan(d @ﬂ&@ﬂ) 2 weaufer QuasenoewL (Bua;eﬂs‘am)soj

(D) Qeéuelirar® aufls@nd uaileyerarcuaiien Lamenul GUThnHenmer
(E) eflenL Gglﬂtua?ﬂé)a)g)

B | L CCS1P/22
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50. Nadaakondro! Kadaakondro!!
avazhi nallai vazhlya mlanae'

Whose character plays an important role in the shapmg of the world
Emancipation in Purananuru?

(A) Women (Pendir) (B en (Aadavar)
(C) King (Arasar) (D) Priest (Anthanar)
E) Answer not known | '

“BrLnQsrenGpm a;m_r;Qa;rreBTG;orr
Sieuauif peorere aumfus HleoGer”
‘GLDQSH@H) q;o([brr@mbguﬂ Lm_d cws Cuobunype wrie @@asspm,s
Sl UL@LWNES sagflanmg? ' -

(A) Quamgi B) s ai

©) s D) sipgeri

(E) dfle GpRweidene

51. Whlch Festival was celebrated throughout Tamllaham dunng the

Sangam Age?
- (&) Adippooram . (B) Onam
(C) Navarathiri " @MPhiruvathirai

(E) Answer not known

&g anagHle sWllpsd appeaudaid GarerLm oL uaunq.sm; crgr?

(A qlymd (B) gemd
(C) paummgHf : - (D) &meurfeoy
(B) o9 Qsflweldama

CCSiPi22 o 84 L » B

Click here to Visit >> www.govtjobsnet.com




52. “Kavarﬁm Kazhagamum Kaiﬁm Tharukki
| ‘Ivariyaar Illagi yéar” ——'1‘;0 whon; does.fth‘(.e' advice 1s Said 1n tlﬁs Kural?
, (A)‘; Guarﬂ_s
N | (P.,)' -. Ambéssé.dors
©  Ministers |
(D)’(ﬁings - | 7'

(E)- Anéwer not known

: f‘&a@llb_ 5@5@& S WLD §@$'¢]

@;@J‘ﬂm i @eend qum’ _ @é o u.:ir@é;@ é‘-ﬂmmu . ?. -
@) srowtadr

® prgtas
“(©) élmbe'rsr'r.ssﬁ

(D) Ceupsiimer .

(B e&]mLQgﬂmeﬁléwé

B S s " ccsippz
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53. Match the following with List I with List II :

List I |
(a) Thirumurukarrupadai
(b) Pofunaratrupadai-
' (©) Simpanatrupadai
(d) Kurunji Pattu :

@ ® @© @
@a 1 3 2 4
® 1 2 4 3
s 1 4 3
D) 3 2 1 4

(E) Answer not known =

List II |

Mudattamakanniyar
Nakkirar

.Kapilar
Nallur Naththathanar

| Qeneueuaneupenmi) L igwiéd I-Cor® vl igwe II-eear Qurmssis

Y
(b)
()
(d)

(A)
(B)

©)
@)

(E)

CCS1P/22

vlgwel

SpEaTHmiLLemL.
QurmBrTHmIILeL.

SmuTERTARHMILHIGHL

GHesd um_ @

@ O

1 3
1 2
2 1
3 2

allenL QzMwedicvancy

(0

N

(d)

B L

36
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54. Find out the missing value in the givén figure.

(A) 8
B) 64
,('C)wﬂ_is
(D) 25

-

(E) Answer not known

QanPéastiul L uLsHe UL aamefian LHUDL sTaTE. -

@A 8
B) 64
- (C) 216
D 25
(E) eofen. Qsflweileena
B . | | 87 . | ~ CCS1P/32
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55. Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015,...

(A)‘él o . ® o001
(€) 0,001 | | O 1

(E) Answer not known

0.15, 0.015, 0.0015,... eremp QumsE Qgmi mrﬂ@&qﬁ]e&r Qurgelldlgib sTems.
4) 0.1 : (B) 0.01
(©) 0.001 S ) 1

(E) oflen QgMueideme

56. Find the sum of 12 + 2% + ... + 192,

@) 2500 - ® 2400
(C)\éi?o_ O D) 2570 -

(E) Answer not known

ISP STRTE : 12 +22 +... +192
(A) 2500 \ (B) 2400
(C) 2470 | (D) 2570

(E) efenr G,srﬂlu_veﬁlsba)a)

CCS1P/22 ' o ., 38
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57.

58.

LGV

(©

‘A’ can finish a work in 18 days and ‘B’ can do same work in half the time
taken by ‘A’, then if they work together then what part of same work
they can finish in a day

(A)

3&

© (D)

20 o~
| o

(E). Answer not known
‘A’ o5 Caumavanws 18 prrlsefled aprsdiprit. ‘B’ ©Gs GaumaaniL Wi és ‘A’ THEGLD

presafieo urdlemw erRESHprd erafléd Geusd Gabay 9@ preflé  apy&Eo
Gouenauller ermey erenet? ‘

B

- D)

~3|0 Ol
ol Sy

() offen GsMweicrana

The side of a metallic cube is 12 cm. It is melted and formed into a
cuboid whose length and breadth are 18 cm and 16 cm respectively. Find

the height of the cuboid. ' ‘
(A¥Y' 6cm ] (B) 7cm
(©) 8cm D) 10 cm

(E) Answer not known

2 Consggned e (b a;sma&gm,sﬁm uEs earey 12 @s.15. Sigenen 2 HEd
18 Qs feord wpgd 16 Qe SsseED pda @@ asasr&@smma;m
2 meun&sLLUBEDG. B sens AseicussHdar 2 WTHmss STamns. '

(A) 6 Qs.b. ' (B) 7 @s.85.
(C) 8@s.s. (D) 10 @s.8.
(B) ofer. Qgflweiioans |

" 39 | | CCS1P/22
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59. The compound interest on ¥ 16,000 for 9 months at 20% per annum

compounded quarterly is

A T2,599 . (B) T2,572
(C)\/t 2,522 | (D) ¢ 2,502

(E) Answer not known

20%, gen® algdd STRIHGESE RHGOD aly sEEALILEDL wopudd
T 16,000-4@ 9 wrsisEnse AaLsED @mIQ el igLres |
(A) ¥ 2,599 (B) T2,572
(©) T2522 D) T 2,502

(B 'aﬁlmi_leﬂuJeﬁlé)mm‘

60. In what time period will ¢ 10,000 earn an interest of ¥ 2,000 at

10% per annum?

(A%ears (B) 5 years
P

(C) 6 years _ (D) 3 years
(E) Answer not known |
oed T 10,000 geg, Aw0se 10% aly oSsido, aspmer gamdseo
T 2,000 s igemwsts Qupmis 2

(A)’. 2 yaraer B) 5 c%méam

(C) 6 syem@aar | (D) 3 yyem@sar

(B) oo Agfiwelidrae

CCS1P/22 40 : | B
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L)

61. A car travels 90 km in 2 hours 30 minutes. Then the time required to

62.

cover 210 km with the same spéed is

(A)V{houxjs 50 minutes B) 5 houi's 30 minutes

| (C) 5 hours 20 minutes D) 6 hours 50 minutes

(E) ~ Answer not known

e waopbs 90 H.5 gqumg 2 werfl 30 Pufl_misafied é!;l.é;@lb. 21Cs Ceussdled

210 &.B L enns 558 @b CHHd
(A) 5 wefl 50 HALmser (B) 5 wexfl 30 Hifi_riser
(C) 5 wexfl 20 BL8lL_rhrgei D) 6 wesh 50 AL _fuser

(E) <fenr QgMweficdoens

The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of

their heights is 5 : 3. Then the ratio of their C.S.A. is

aVs:2 - ®5:3 - In
(€) 3:2 ) D) 2:5 |

. (E) Answer not knov;.rn‘

@ran® Cpi eul L o meeraailen gyrisaien elfign 3 @ 2 eens. Gogib eubiler
2 wyusetlan efflgw 5 : 3 erafles sieupdlen aueaTLTLILSaRen afflgw

@& 5:2 ®B) 5:3

© 8:2 ) 2:5

(E) ofen QpMaidrena

41 CCS1P/22
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63. If the HCF of x* + 3x% + 5x% + 26x + 56 and x* + 2x% — 4x® — x + 28 is
x2 + 5x + 7. Then their LCM is

@) (x% +2¢ + 8)(x* + 22° — 42 - x + 28)
B (x? + 22 - 8)(x* + 2x° - 42® - x + 28)
(C)/f2—2x+8 x* +2x° - 4 x+28)
(D) (x - 2x - 8)(x + 2x3 x+28)
(E) _Answer not known

x? + 3x% + 5x? + 26x + 56 wHmD xt + 263 —4x? —x + 28 crs&r;r;: u&ggxuqé;

Cameeusafier 18Qures. x2 +5x+7  aafld Seupdlenr  B.GQumL.-er WY

%Lb.'
@A) (¢ + 20+ 8)(x* +22® - 42® - x + 28)
(B, (x2 + 2x — 8)(3&:4 +2x3 - -x+ 28)

©) (x2 - 2x + 8)(:)54 +2x3 —4x® —x + 28)
D) (Jc2 - 2x - 8)(3:4 + 223 — -x + 28)
(E) el 'Ggslﬂ.uéﬁid)mm

64. Which one of the folloWing is a pair of co-primes?
(A) (16, 62) | (BV(18, 25)
(C) (21, 35 (D) (23,92)
(E) Answer not known

Slemreu(meuaneumIeT eTHS ¢ph Gamy. eresmaeT aFrrﬁ"ue_slT CTERTEET?
(A) (16, 62) | (B) (18, 25)
© @135 D) (23,92
(E) e Qsflueldeame |

CCS1P/22 42 | | B
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65. If price of a tea increased by 20%, by what percentage must the

cdnsumption be reduced to keep the expense the same

(A) 15%% . ® _ i%
©) 17%% | D) 18%%

(E) Answer not known

Coullamauien elow 20% HaNéEnlung Coulene LWLETLITL g6 Ggae) TDHTIOD
BméE Couliens LTI g has TESDEN FHESFD GPDSEIS Qaarer Gouair(Bib?

@) 152% . ®) 1624
. 3 R 3
© 17%% B 18:;%

(E) ofen Qgflwclicrenes

66. Akila scored 80% of marks in an examination. If her score was ¥

576 marks. Find the maximum marks of the exammatlon

(A). 640 (B) 680

(C)~/720 . D) 700

(E) Answer not known

sfor gn Csield 80% wHQuarsmer ngj)gﬁrc'rr. DUt  Quppgl
576 wHQuemadr. sibg Gaielear Awrss LHLCUGTEME STawmTE.

@ 640  (B) 680

(€C) 720 (D) 700

(E)  oflen Qsfwuefdee ‘

B | 43 CCS1P/22
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67. Assertion [A}:

Reason [R]

" The New Educaﬁional Policy (NEP) envisages a

complete overhaul of teaching — Learning process from
the traditional teacher — centered to learner centric

.approach.

NEP ensures that holistic development of students by
accentuating their creative potential.

(A) [A] is true but [R] is false

(B) [A] is false, [R] is true

(CWth [A] and [R] are true; and [R] is the correct explanation of [A]
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

s [A]

sryemid [R]

splsgedr - shped  Cewdgpenpuler @o@@immn@
wnérewidpsns, LHU soelsQandias, urmbufu ey ffuir
mLWITE @HbS SDHoe, spuaflar eww a@]@@mg)u_frr&;'

2 heundlenng).

ydlu  soed Qsndaresudé wremaiseien < Sa T menen

2 wigd seuisailar pemownes aueriéflaw 2 mf Aeige.

(A)  [A] eranug) s syenméd [R] eremuig) seumy

B) [A] aerug geug, eerma [R] erenuig s
(C) [A] womib [R] Qe @UmT@m sfl wpmb [R] ererug [A] Qe sfwimen

MeT&&LD

M) [A] vimw [R] Qo Grar@n o %amreu [R] eI, [A] e sfwiren

eNenESH LD

(E) aﬁlsm_@g,rﬂtuaﬁlsbmw‘

CCS1P/22
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68. ‘Promoting soil health’ and ‘making rainwater harvesting compulsory’ —
These statements relates to

(A) Green revolution " (B) Blue revolution

(C . vergreén revolution (D) Yellow revolution

(E) Answer not known '

‘weareuargeang CbUGSSIS® WHDILD ‘LDénQ‘IEﬁ CoaflieL 5L'_L_rru_|L'_|u®§gj§é)’ — @&

SaHmiLetr QFTL_TjenLwig) d

(A) weeviynd - B) seuyrd
. (C) ugeLwiITeT LT 8l ' D) wgpser Yyl A

(E) eofen Qafluefoana

69. Which are the articles that describe situations and confer power to
Union Government to claim control over states

(A) Art 368 and 313

(B) Art 356 and 363

(C)VArt 365, 256 and 257
() Art 349 and 350

(E) Answer not known

THSE S L igaT sofons s@H wrfe Srssoa LFHU Srs SLEOUESHID
DB STIRISET G Myl b,

(A) srds 368 wHmID 313
(B)  sr55 356 wigib 363
(C)  snig 365,256 wpmtd 257
(D) spag 349 wpmub 350
(E) eflen Qsfluelcvena

B | 45 | CCS1P/22-
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70. Indian economy is marked by the existence of

(i)
(i)
(1i1)
(iv)
(&)
®
©

D)

- Low per capita income

High proportion of the working population is engaged in industri'es'
Improving rate of capital form'ation |

Problems in the employment |

(1) and (i1) are correct

(1) and (iii) are correct

(11) and (i11) are correct

(11) and (iv) are correct

(E) Answer not known

@pHw QummeTmgryd @gs&r epeotd GMasE LB E g

@
(i)
(111)
(iv)
(A)
®)
©
)
(E)

" CCS1P/22

GODHS SO EUHLOTEILD

2 DP&HGLD EHET SiFls a&]éﬂgé@éj QAgmfpsrerasefie FHULHereranio
CubL@S$SULILL apeger 2 (Heunss ellEgD

Ceuena aumiilblehr HEswaaT

(1) wpmb (11) slwuremear

(i) wpmw (iii) sAurereas

(i) whmb (iif) shurenees

(11) wpmw (1v) sfluraea

efllenL Qgrﬂu_leﬁ}é)a)ai

6 .. | B
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71.

72.

| (E) Answer not known

- @bHu Asies auisfuGen QrudunBaermeue

A Do ([@Doces - (B) O wppis (i) vLeb

N

" The functions of Reserve Bank of India are:

() Issue of coins and Bank notes

(i) - Banker to the Govérnment

(i) Regulating credit in the country | |
(A) (@) and (ii) only | (B @ and (iii) only
(C) (ii) and (iii) only - (), (i) and (i)

()  prewwhisedr wHob LMl Crr @ QaafiAI@se

() ersrkasdieE cmdureyrs ArdLGSD

(111) prlnd s PopsmaT RUEGLOSHISD

' i
©) (@) wppd> (i) w @b D) @), (i) wppo @ii)

(E) e Qsflueiidama o > -

“ How manyupairs are correctly matched?

Vaccine Nature -
- 1. - Pfizer , , - — 'mRNA vaccine
2. Covishield — . DNA based vaccine
3. Covaxin . A — Inactive vaccine
4. Sputnik.V = " Viral vector vaccine
(A) 1 pair . - (B) 2 pairs -
(CW”S pairs (D) 4 pairs

 (E) Answer not known

ér:isgsmﬁf Gggmg.ser efwns Qun@gglhui@a’rmm?

| g_s@ﬁg.ﬂ . o Qawed
1. Pfizer | — mRNA sG0ys
Covishield - ~  DNA siguueLiGare sGUYS
3. Covaxin .~ Qewdlpss sEUYA |
4. Sputnik. V. = eayd Qa_:ésl_frg SOLIA
(A) 1CGgmy : (B) 2ng|q.5sir |
(C) 3 Gegrig. s . (D) 4 Ggymig.&em |
(E) ol Apfusiidoame -
47 : ' CCS1P22
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o

73. dJawaharlal Nehru wrote in 1961 ‘India as a secular state honours all
faiths equally and gives them equal opportunities’. S. Radhakrishnan as
President of India too expressed ‘when India is said to be a secular state,
it does not mean that we as a people reject the reality of an unseen spirit
or the relevance of religions to life or that we exalt irreligion. It does not
mean that secularism itself becomes a positive religion or that the state
assumes divine prerogatives’.

Which one of the following is best implied in the passage?.

(A) Indian secularism is a religious, irreligious or antireligious
(B) Ingdian secularism is perfectly compatible with religiosity
(C)V¥’1Indian secularism does not recogmse the importance of religion in
~ the public space
(D) Indian secularism is not requ1red to give each religion equal
consideration

(E) Answer not known

@QiHunr @ wsFFTTUDD BT, NMETGH WFESHETLD FLwLNs WHEHADS WHDD
SCUTEEHEEG S0 Mt genar aupiiGing erar 196lar Cpmp e, g
@pdunefen gemduuns GQps TTETH@eyaTeT “wisOTAL BHTD HETEIES
QAzflung  yellllenr  wamigsmsCLr DG  uUMPEMEEE  ghsafien
QurmsssmsCur  ArrsfsfGopmbd, degh wsFeg wisHHGomd, erenmy
SATGSLae WwsserTlamwnGu @ Coiampurear wHLNE WINEDS DOV DTS -
QzweSs 2 Menwaseer  ghpEdstadlpg am  SiTEsD | Qode” Tty
Qeuefliu@® A e, -

GemaumeuaneupPled ergy ApLiLns ugHudier @gﬁlun_‘:h_uul'_@shmg?' :

A) @ndu wsssrinIenenio cranug 20 m@ FEETIUDD Sdog WSS
erglymeng

(B) @sHu wsismibeians LauTsEEILGH PUPPBUITE b3 LIGunélmg)

(C) @pfu wssermerens Qung Qauafiuder LOB&E 6t Gpasﬂu_lggjmgmg
2kEsfsseldeame

D) @pHu Logwrrm_‘ﬂafra)w et speulleun(h SSMSIID FOWNESE &H(HS Gmmnq.u_t
Sieufludlévenay _

(E) oo Qsfluelaoeame |
CCS1P/22 \ 18 | | B
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74. Tamll Nadu State has which of the followmg pohcy/pohcms‘?

75.

1. Tamil NaduRand D Policy

- 2. Tamil Nadu Life Sciences Promotion Policy

3. Tamil Nadu Footwear and Leather Products Policy
4.  Tamil Nadu Fintech Policy

(A 1,3and4 ' (B) 1and 3

(CM 2 and 3 : D) 1,2and 4

(E) Answer not known
gl.é];j;;ﬁff@ rBlen Wereumb Gardrens/Asmdrassafics ereng GubpieTerg?

1.  s8ppr® R opmw D urdld

2.  sBppr® Life Sciences Promotion umeilf

3. . sllppre sreef wHmw Core Qurr@a_asm umedl&)
4.  sOPEIH <oHerdLs urelsl ' :

4 1,3 Lngpgju) 4 ' (B) 1 wpmpw 3
O 1,2 wvppn3 ' D) 1, 2 wHmb 4
(E) e Qsfweaiicrena R :

Which of the following are correctly paired?

(1) New India and Commonweal —  Mrs. Annie Besant

(i) Kesari and Maratha ~  Bala Gangadhar Tilak
. (it1)) Indian Opinion — Gopal Hari Deshmukh

(iv) Indu Prakash | — Mahatma Gandhi

AW and (i) ~ (B) () and (v)

(€C) (@) and (111) - (D) (ii1) and (@iv)

(E) Answer not known
Seneumeuanaupiier ereneu sflwnsls dun@pweraran?

D P @sHur LHmd sToeeie —  SHmws. SIAQLISEHL. SIDEDILITT

(i) Gaef wpyb wITEST | = UTesEETsy Hesi
(iil)) @rHui smEs ~  Gsmunéd enf Ceegaps
(1v) @bs rsev ' —  &ngr &nHé
@A) (@)wpgo G (B) (1) wpgid-(v)
©) @) wpgid (11) (D) (i11) wpgd (1v)
(E) e Qsflweilédama n
49 |  ccsipre2
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- 76.. Which of the following statement(s) correct about Madras Native

Association?
(i) The first political organisation started in India
(i) The Madras Native Association began to function on 1852

(iii) The founder of the Madras Native . Association was
G. Lakshminarasu Chetty ‘

(iv) The leader of the Madras Native Association was Anandha Charlu

(A) (iii) only | (B) (i) and (1i) only
(C)/(ii) and (ii1) only (D) (1) and (iv) only

(E) Answer not known
Spssam.  ansfubisefier QL gren GhL g 6t a@&rr&l(‘p’u.}aq.m ug);_f)’lu_: sfwran

aunsfluiismens Gg,ng,Gg@mmLo

() @bHureiler HMpASSLULL Ws@raug TS smips el

() Qg 1852 oan® s QewueuL Asm_kidug

(i) QGuiymev Cpliges HGaHiCuesafian Hnyeuat . weiylprs: Aagly

- (1v) Gulgred Gl ey 2CardlCwagafian gooe SienbsTs Fmig)

Q) (i) v @o | (B) () wigp (i) v Go
©) (i) wpmw (i) wrGd D) (i) wigd (V) wCED
(E) e9eL Asfuefdama E |

The tropical cyclone winds blow into the Northern Hemisphere in

77.
direction. ,

(A) Clockwise ~ (B) Straight

(O Anticlockwise ' (D) Circular
(E) Answer not known

QL.&EG SiersCararsdle ghuBd euaflwamw Gma)@a;@ SPDFS TS ﬁmuﬁlw STH
SPQID

(A) - syanrE sHH o (B) Gpyrs

(O) afisgans spmy (D) auliions

(E) o&eoL Qglwueidvena
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78. What are the pillars of block chain technology?

1.  Transparency
2.  Immutability
i 3. Decentralisation '

(A) land?2 ~(B) 1and 3
© 2and3 | @1, 2 and 3
(E) Answer not known

Lernd Qaullen GLseammeguilen Hrekraer ereneu?

1. Qeaueflluen g genenw

2. wIps Goenss

3. upaerEEse

(A) 1 wpmb 2 | B) 1 whmn 3
©) 2uwpgww3 | D) 1, 2 vimid 3

(E) oflen Gglﬂu.leﬁlé)a)w

_79. Wh.lch of the followmg act was described by Jawaharlal Nehru as the
‘Charter of Slavery’?

(A) Government of India Act of 1909
(B) Government of India Act of 1919
(C)V&)vernment of India Act of 1935
(D)  Government of India Act of 1947
(E) A.nswer not known

Epsargpid &L tisafld el aq.emm&aﬂm LCLwb eer gesgniand Gpwellamme
efleufl&su’Lg?

(A) @bHw sipsriies s 1909
B) @b sirsiss s b 1919
(C) QbHu sipsThss #_Lb 1935
(D) @pdHu sirsmiss slb 1947
(E)  oen Qg,fﬂu_laﬁldJé)a) |

B- : 51 CCS1P/22
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80. In which annual sessions of the Indian National Congress made the
historic ‘Purna Swaraj’ declaration?

~ (A) 1907 Surat (B) 1920 Nagpur
(C\T929 Lahore (D) 1940 Karachi

(E) Answer not known |

@nHu Csdhw srrrma‘i]r,rau Grpjgs TR 2iwielled euremHm e.ﬂg)ul_;uSlasa H,rrcwr FUITTE

Siflsmsemw GeuefluiilL g
(A) 1907 @5 ' (B) 1920 g_r,rra’;la;,r'r
(C) 1929 e (D) 1940 ayéd

(E) ofen Qsflwelicranay

81. Who was selected as the President of Council of Action, which was
constituted by TamilNadu Congress Committee to execute the civil
disobedience in 1930?

(A) C.Rajagopalachari
(B)\é Sathyamurthi
(C) T.S.S.Rajan

(D) T. Prakasam

(E) Answer not known

1930 gib an( SWOPHTH srmdyey Sl GLITD &L omliy Quassdaar BLis
QawpH@ s serewalrnasd GCETH0SHESLLIL L euT wiri?

A C. @Wg@&nurra)rr&&mﬂmrrr’r

B) - S. spduepisd

(C) T.S.S. @orgen

(D) T. 9psrsw

(E) e QsMweiidoana .
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82. The steps adopted in the long term corfservation_strategy of wild life
is/are 0
() Hunting should be stnctly prohibited in the nation . parks,

sanctuaries blosphere reserves

- (i) More national parks and wild | life sanctuaries should be
established - |

(iti) Captive breeding of wildlife should not be encouraged

(A) () only
®) (i) and (i) only-
CVD and (i) only

(@) () and (i) only
(E) Answer not known

o deotigsmen uTgsTsgh fare st wfpepsaer Qsmi snbsmisar

CTETLIENEU

@) Cpolu yhlsrsser, sTammawrsdr, 2ulisGsrer sriuskisd Hduepbed
CaulanwirReug) geor el GeuamHib |

() Goawd Gsflu Yhsréser wHpD aaelomg sFamoULSH HpeiuL
CouaHid

(1i1) euanefami@seten Aeopliul L Qe iQumssses cas@eiliss sm_g)

(A) (@) v e

(B) (i) wpmb (1ii) w' b

©) () wopgd (11) LY

@) @) wpgd (i) wi G

- (BE) e Gflueicencs

B | 53 | CCS1P/22 -
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83. Assignment of ecological or biological significance of a contarﬁinant’s
effect based pﬁmarily on statements of statistical significance but .

conﬁrary to biological probability
(A) Malthusian theory
(B)k Median .effective concentration
- (©) aulstick incongruity
D) Maximum likelihood estimation

(E) Answer not known

2 uliflwie ﬁlé@g&mé@ oIprE, @gs&rmwhna yearaflelleuy  afwssousden
ISINEMEEMET Iig iDL WITES QamamL @@ LISUTLI6T edaarellen SDMmIFGLPM
S|V Q;USIIﬂUJG'D. @éﬁuﬁgmgmg REISSSD |

(A)  wrégrfuer Gam_ L@

(B) syrsfl Liugyerar Qo

(C) uwréevgs GQn@ﬁguS]dnme

D) odsuls &rr‘e_'r,'é‘}mé;mg wHNSH

(E) e&feoL Qsflueidamae

CCS1P/22 | | 54 | B
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84. Whmh of the following statements about the citizenship Amendment Act,
(CAA) 2019 are true?

1.  Citizenship will be granted to all the foreigners who lived in India
for more than six years.

2.  Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or
Christian communities from Afghamstan Bangladesh and

. Pakistan who entered India on or before 31 Dec, 2014.

3. Members of specific communities will be granted citizenship within
6 years instead of 12 years :

4. The CAA will help to the preparation of Natlonal Register of (htlzens

(A) - 1and 2 are true (B¥2 and 4 are true
(C) 3 and 4 are true (D) 2 and 3 are true
(E) . Answer not known

Gauflan Amsss sib (CAA) 2019 um;ﬁlu.i Gemaumid aa;mga:aﬂw a5/ eTeneu

| 2. ETLOWINETNG?
1.  @pdwurelier 6 %@T@&@&@ Cud umphps Bioasg Geauelbriyams@n
Gl fenw eupriEILHD

2. aj,usrresﬂaugrrar utsEaTTGE6ly . LOHILD undleavgmafen @@w euibgl 31 wsbLT

201465 et @Qpfurelip@ar mewhs Ebsissd, fsfwisdr, Quetssiser,
- evgganiiaeT, Uniiflaer sieg) Sflevgie sepstisaien 2 pliIdaisEnse Gy fiew

3. @iudL swpsisemes CripsaiiseEnse 12 .:%am@a;@&@ uflens
6 sy REEHE@ET Gigwfleno auprislLBD -

4. @wwaseiar Caflu ufGa el surfiiuge CAA Lgmm

A) 1opmpo2sf (B) 2 g 4 sM

(© S3Swigbdsh - 7 D) 2 vpyib 3 &M

(E) oflen Qsfweiidens ‘ -

'85. Find the mismatched answer about the Indian Railway Zones.

(A) Southern -  Chennai
(By#Central - Jaipur
(C) Northern - New Delhi
(D) Eastern - Kolkata

(E) Answer not known

ﬂwaJ@mmmg)gxaT idu qulleGer weam b GHSSI 5mmn5u Gurr@gs,suuLGGTm
ellenLenwié Erems.

(A) Qsps - Geenenar
B) wsuued -~ - QU
C) ass — Uzl Hevedl
D) dpss - - QsrersssT
. (E) &en Gsfweiicvand _ ’
B . 55 | . cecsipiz
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86. Which of the following statements is true about human races?

() The races i1s a group of people with more or lesé permanent
distinguishing characteristics '

(i1) Humgn races are cléssiﬁed in 7 blood groups

(111) .The races are identified and classified based on skin colour,
stature, shape of head, face, nose, eye, type of hair and blddd group

AN and (iii) only o - -

(B) (i) and (ii) only |

(C) () only

D) (ii) and (iii) only

(E) Ahéwer not known

enau(BLd SapmEetieh ereneu maﬂg@mrﬁmmcmu updlw sflwres sapmser? - ._

() Q@emsdar aatug fswraGan swag GoparsGaur Hrpsy safsgaiote
Ui |sears QEmaT._ 9 GpanELb. | | |

(i), weflg Qeantser 7 Qrss cumssans ANEsLILI_ Hetarar.

(111) c,snaﬂeir Bimid, 2 wigb, semeulldn algeulb, APsD, APSEES, ST, (Ply. CUMS LHDILD
Qs awums PAuapdlen Sigliumuid Gamsdr e wrend Sreriiul_
mm&ﬂﬂ@gguu(‘gﬂdﬂmm. _

&) G) wpgd (i) wc Gud

B) @) wpgid (i) w b

€ @) wipw

D) @) wpgd (1i1) wGEd

| (E) oferr Qsfweioene

CCS1P/22 ‘ 56 ' B
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87. - was thé contemporary of Emperor Akbar in England.

(A) King John _ |
(BWueeh’ Elizabeth-I

| (C) - Queen Victoria
(D) King Charles II
(E) Answer not known
i sresHo Grdonpems ey H Qeige
(A)  wenenen grer | o
(B) qsemb anmﬂ aredlev@ug |
© @manfl GISIG'SGL,-ITfﬂUJlﬂ
D) SITE @reTLmb sriee

(B)  eleL Qsfwcidme

88. Meadows .T\aylor observes .that the death of was
‘the beginning of the end’ of the Bahmani kingdom. - a
(Aﬂud Gawan 7
(B) Ahmad Shah
(C) Mahmud Shah
(D) ‘.Humayun
(E) Answer not known

QuG-re G wei 7 : , - & i.o'lyswn.b urantoefl %ﬁ.ﬁuﬂdﬂl ‘pigefle LD
- eTey H(hHSlemmi. ' '
.' (A) ngmmg SEUTer -
(B)  =iginwg agr
(C)  wgining agr
(D)  apcwomyen
(E) eflen Glg,iﬂu_laﬁ]sbmé)

B o 87 '  CCS1Pf2
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-

89.

90.

~ Arrange in chronological order

1. Nehru Report

2. Poona Pact

3. Simon Commission
4. |

Cripps Mission
(Ar 1,234
( 3,1,2,4

(E) Answer not known

sne euflenslivg ADEGS
1. GCpmidisns

2. yewnelupsd

3.  Fwen @

4. eﬁlﬂf_leib @

A 1,2,3,4

© 3,1,2,4

(E) <o Asfluddaane

®) 3,2,4,1
M) 2,1,4,3

B) 3,2,4,1
D) 2,1,4,3

Which one of the following is nbt correctly matched?

(A) Arif Qandhari

(B) Nizamuddhin Ahmad
(C) Abdul Qadir Badaoni
(DWuhammad Khan
(E) Answer not known

— Tarikh-i-Akbari -

— Tabaqat-1-Akbari _

—  Muntakhab-ut-Tawarikh
— Khulasat Tawarikh

&@@@mmm;b;ﬂé} eTenaU HeUDNS G)enarT&sUILIL (Heeren?

(A)
B)
©)
D)
(E)

<Ml gpsmil
Pengpden sis0g
SIUGID s LEgaraf
QPSLOG, SN '
eflenL GsMwellcbency

CCS1P/22
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91. Match the following:

(a) Garo 1. Assam ‘

“(b) Kuki 2. Mizoram

(¢) Todas ° 3. Tamilnadu

(d) Min 4, Arunachal Pradesh
@ ® @© @

A) 2 4 1 3

B) 1 2 4 3

C 2 3 4

2 4 3 1

'(E) Answer not known

QereupeuemeuhennLs QUTIHSSIS :

() srCyr . 1. swveod

b) &8 2. 18Genyd

© Gsmi 3. 5AHHTG

(d) o 4 a@a;srmmu Qs
@ ® © @

@2 4 1 3

B) 1 2 4 3

€ 1 2 3 4

D) 2 4 3 1

(E) ofer GzsRwelicvanad

B - s | - CCS1P/a2
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92. The Stupa at Amaravatiis a best example of what? _
(A) Nagara style of architecture (B) Vesé_ra style of architecture
(C) Mughal Architecture ravidian architecture
(E) Answer not known '
<iwrreulufigyérer cuEmI arEbEF flg)j;g, GTOQ;@&&HL@?
(A)  pspiureils st dseme  (B) Geuspuures sitg L ss@me
(C) @pasamu_ué asn'_m,i_é;sai@ (D) Arref& &1 14 LS50

(E) e QgRuefcrena

93. Choose the right matches among the -type

1. Vedantins — Brahma
2. Naiyayikas — Arhat
3. Jaina ~ —  Creator
| 4. © Mimansaks — Karma -
(A)\/and 4 are correct (B) 1 and 2 are correct |
(©) 2 and 3 are correct o (D) 3 and 4 are correct

(E) Answer not known

Ga;rr@asa;u UL eTeupmye a’lﬂl.lJITGUT Qun@gg,rmsmmg Ggrrp@g@asasmm

1. Gagmpdlsar = — Qg

2. @pumdsd ~  sitans

3.  aoggeni —  uesLlumar

4. Bumbesr —  &mom

(A) 1 wpy 4 slurereme | (B) 1 wpmtd 2 sfwnenereu
h ' (C) 2 wpmb 3 sfwunerea D) 3 whyb 4 sfiuneree

- (BE)  dflen QsfMweiievaney

CCS1P22 - : , 60
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94. Choose the correct match:

1. ArizI-Mumalik = -  Minister for Defence

2. . Mushrif—I-Mumalik ~ Accountant General

3.  Dabir-I-Mumalik ' —  Minister for public grievance
4.  Mustaufi-I-Mumalik —  Auditor General

(A) 1,2 and 3only
(B) 2,3 and 4 only
(C)_\/,2 and 4 only
D) 1; 3 and 4 only
(E) Answer not known

&rﬂwﬁau.ﬁun@ﬁﬁumg’)mpg Ggﬁﬁ,@g@é;&ml.b

1. anﬂsiq,-g—(g)mlfaﬂﬁs — - UNEISTULY SIHDEsiT

2. qpesfli-g-qpwreds - g,méaénu:és SeTEETaTH

3. smAr-g-apwrds —  Qurgéser GepSii) Seiwési
: 4. @psiq;,seiuﬁl-g-@omnéﬂei; —  geoeend sefllEamaswreart

(A) 1,2 wpmb 3w Gid
B) 2, 3 wpgb 4 wrEGd
(€©) 1,2 wppd 4 WL @b
D) 1, 3 wpmb 4 W Gib

(E) efenL Qsflweicvena

B o 61 - CCS1PR22
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95. Consider the following statement and find the incorrect answer :

1. The constitution imposes limits to. Président to give assent to the
bill passed by the state legislature

2.  The President may refer a reserved b1ll to the Supreme Court,
under Article 143 for discussion

3. The power of the President assent to the bill passed by the State -

- Legislature and Parliament are the same '

4.  The President cannot keep a bill of the Parhament pending at h.lS
hands for an indefinite penod of time

(A) 1 and 4 only incorrect

(B) 1 and 3 only incorrect

(C) 2 and 3 only incorrect

(D)Vgand 4 only incorrect

(E) Answer not known

ESEBTL InDIIESMETS HHSEULD, FEUDTET SaDNS@eTS SarTL HieyLb.

1.

&)
(B)
©)
(D)
(E)

CCS1P/22

L wempd @Quipdhu wCEngre @ Giglurs: Mol SargienL W BamFmeus
&7 SITAlw@LLILSF & LID @If erédenaentl euelyymsHluarerg

gl o miny 143-an §p Gywrs geear Hnsd emausdme@h wlsrsr Lph
2 &5 BHwamSHL b ,Canflsseombd

LTIT@BeTd HHh &L wapksdr @updlu wGsrsrésst B Gyurs
soaeut @G wrdfurer sfamseans Qsrears mednm. |
urgmenemb Gubdlw wCergr 158 Guwrs gmaal, sme amruampuieh

- @ULS6 ST aneuGS e (1Pl WNg).

1 whmith 4 1 (b Seum
1 wpmd 3 LG Feumy
2 oHpb 3 B ey
3 > 4 LI Pb Faugy
eflent_ Gsflweldeana

62 ' : ' B
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96.

Which constitutional amendment incorporated Puduqﬁerry in the Union
of India? | ’ |

(A) Tenth  (B) Twelfth

| (C)fFourteenth | | ®) Twenty second

(E) Ariswer not known

abg SirsemwiLS HEEs0 LgECsiou QbSu gaPlusdlo Cridss?

(A)  ugsraug S (B Audsraﬂlj‘daﬁ_rrmg

© uﬁ@ﬂdﬁ&"mg _' (D) @@%ﬁuﬂmﬁ_m@l
(E) oL Qgfueddmn o | o

- 97.  ‘Arrange in chronological order

1. Sarkaria Commission

9. ° Balwantrai Mehta Committee

3. Rajamannar Committee

4. AdminiStrative Reforms Commission

(A 2,31,4 T AN ®, 4,31

© 2,41,3 - (D) 4,231

(E) ~ Answer not khown

: &g; a_érsrr_a.l;i)ebmé sroaflasILBsHs.

1. srasTAWT SyeramuLD

2. ueapsrmi CoEsT G1p

3. FTEQLOGTGITT @D

4. .‘rf,]'f'rmrras Erfl(m&s < earmutD -

@) 2,314 B 2,431
©) 24,1,3 D 4,231
(E) e Qpflweiidame | o '

63 . CCS1P/22
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98. Which of the following statement is/are correct?
| 1.  The universal declaration of human rights Was‘adopt.ed on 1948
2. A_rticle.10 says that all human beingé are born free
3 UDHR has altogether 32 articles. _
4.- UDHR was adopted by United Natibns General Assembly
(A) 1,2,3and 4

(B) 1,2and3
(V1 and 4
D) 1,2and 4

(E) Answer not known

&Gy QerPasul Berer aig/ eTeney Fflwimeng?

1. uéarem @ wals 2 fewser GrsLaruGSSUILLL %ﬂiﬂ"@ 1948

2. 8 10gen Ly wellgiser sieanaimLD &g;;bﬁr;ﬁrrasu Yppgeutsdr

3.  uétam @ weils o Memwadr GysLeanb Qurgsib 32 G&Q&a)més Qener_z

4. gsflu prpseaflen QurgiFseu uenam ( weaflls 2 fewsdr GrsLamsas
Tms QEmer._g| |

A 1,2 3wvppb4d

(B) 1,2 wpmw 3

O 1wvimgo4

D) 1,2wppb4

(E) ofer QsRweldrera

CCS1P/22 64 - B
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99. Whlch of the following statement(s) is true about the union temtones of
. India? :

1. From 26t Jan. 2020, Dadra and Nagar Haveli and Daman and Diu
are combined to a single territory.

2. Articles 239 to 241 in Part VII of the constitution deal with union
temtones

3. The two union terrltones from the former state of Jammu and |
Kashmir are Ladakh and Jammu and Kashmir.

4. The largest union territory of India is Andaman and Nicobar

Islands.
(A) 1, 2 and 4 are correct
(B)\/fand 3 are correct

(C) 2and 4 are correct
(D) 2, 3 and 4 are correct
(E) Answer not known

@pdwnelen wellwer GrCsstismants LdBiu ﬁldr@@tb spmisafics erg) 2 @meLn?.
1. 26 gaweufl 2020 pged gngom wHmd pratapGeudd LHMID LTLET LHIHID oLy,
Hwene @Gy NCaswns QeamamssluL (Rerarar. |
2.  swhuamoige VII ugdulé oerer 239 gse 241 aeplerer Gfase
weflwen GrGssnusar QsmLiLraiema.
3. wpesw mnﬂmmrrarr gbew wHpw sraylflidar Qrar® wefiwer ﬂu@;&ma;m
QL& LOHHILD FROAP HIID STEGUST @D, |
4. @pfurefler WaQuiiu weflwer ﬂn;r('égs&w Sibgoren wHnL HEGETUTT
Soysa. ‘
A 1,2 wppw 4 &f
B) 1 wvomw 3esf
(©) 2 uwppi4sh
D) 2,3 whpwb 4 =AM
(E) oo Qgfwelicrenas

B | 65 - | CCS1P/22
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100 Which of the followmg is 1ncorrectly matched‘?

1. Article'361- —  The President enjoys protection from
criminal proceedings against him in court of
law

2. Article352 = - National-emergency

3. Article 356 — President Rule in State

4. Article 360 —. Finance commission

@ tonly

(B) 3only

(C) 1,2and3only

(D)/4 Only

-7 (E) Answer not known

&@m@mmmgby@ a8 Seupns QUTmBSSLILIL (HeTerg)?

1. g5 361 . —  ffuveapsdéd @uurss sooumss adymen
Gppeilued pLesmssaiidr Qmbs UTGSTIMLL

Qupdlpnit.
2. ayr5s 352 —  Gsflw Apmésysre LS]IJ'&LGGTLb | )
3. asrdg 356 © = wiflegde Grwrss smaat g8
4. egr5g 360 - 3L eg,wmfulh
(A) 1wi@b
B) 3 Lm.‘.@fo
© 1,2 wpybS wiGo
(D) 4 11" Gib
(E) ofer Qsfluciaeme
CCS1P/22 o 66 S B

Click here to Visit >> www.govtjobsnet.com




101. Choose the correct answer :
The fundamental rights have been described as

0
)
(i)
iv)
(4)
®)
©)
D

The Magna Carta of India

The Conscience of the Constituti;)n

‘The_ soul of the constitution

Inspiration from bill of rights of A.merjcan constitution’
(i) and (ii) only |

(ii) and (iii) only

(i) and (iii) only

6, (i), (iii) and @v)

(E) Answer not known

&Gy e drereuplefimba sMwrer ufame CsibOsHESa|D.

Sig UL 2 fAewadr @easurpns sllsufldstiL@Gdpg

)
(i) -
(ii)
(iv)
A
B
(&)}
D)

B

@pdw Loa'sscrﬂs'm &lﬂémma;aﬂérr .S_:I'I'éGBT_L'D

epw.ﬂu.la)a)mﬁ e wengm_&

St TS weenLol1 e 2p,emnm

©QwAEs spHumanidar 2 Amwsdr wGFTsTalar 2 SGastb
(1) wHmb (1) wGb

(i) wpgw (1il) v Ew

() wpgyd (i11) wi Ebd

@, (i), (1) wppud (iv)

aﬁlmg Qgtwelleene

67 | | CCS1P/22
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102. Match the following constitutionéﬂ articles related to Chief Minister of a

State:
Subject Matter | - Article No.
(@) Council of Ministers to aid 1. 164
~and advice the Governor :
‘(b) Other provisions as to Ministers 2. 166
(c) Conduct of business of the 3. 167

Government of a state ,
(d) Duties of Chief Minister with respect 4. 163

to furnishing of information to
Governor etc.

@ ® @© @
A 1 3 - 2 4
B 2 4 1 3
© 3 2 1 4
. (DY’4 1 2 3
(E) Answer not known

wrfle e@ewEst QaTiu Tem SPESTELD DIFFENOLIL eﬁl@&@mﬁ@un@ggs :

Quirper SifFenwliL i ereir
(@) EBEBHES 2569 wHnb Y Carsmer 1. 164 |
- SaMID SINLOEFT G ‘
(b) smwssisar AgrLiurear Qp SibshiseT 2. 166

g

© o SrFThsSHE SIQIAIG® FLESISD 167

(d) wrfle <L EsEEHEEES ssud AsMNefgs 4. 163
o erafl’.L apgaerwssfen uaflsdr :

@ ® @ @

A) 1 3 2 4

- (B) 2 4 1 3

© 3 2 .1 4

D) 4 1 2 3
(E) o&flen Asfweldens

CCS1PR2 . 68 B
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103. Match the following :

Committee | " Year
(a) Goswami committee on electoral reforms 1. 1993

(b) Vohra committee report S 2. ..1998
(¢) Indrajit gupta committee on state funding
of Elections : | 3. 2008

(d) The second administrative Reforms
Commission | 4. 1990

@ b © @

a1 2 3 4 ,
B) '3 2 1 4
O 2 4 3 1
ovi 1 2 3
(E) Answer not known
Spsanearusuhenpls Glu rr@{sgj;s :
G1CY - C I
(a) GCsisa &ifmesnuadr Qeriurer Geraveumtl gp 1. 1993
(b) Geumyr @ SiMlsns | | | 2. 1998
() <wrdler fPwelly apawnas Coigdser LHHw 3. 2008
- Ppdrgs eLsTEW
- (d) @remneug fieunss Frfmss gy @memuid 4. 1990
@ bk @© @
A 1 2 3 4
® 3 2 1 4
© 2 4 3 1
® 4 1 2 3
(E) eflenL Qgflweafcvensy
B . 69 | CCS1P/22"
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104. Consider the statement of the Judicial power of the Governors of the
States.

Choose the correct answer from the option given below ;-

Assertion [A] : The power of granting pardon under article 161 is very
wide and do not contain any limitation.

Reason [R] : dJudicial review .is possible, when he/she on the
ground of non-application of mind and non-consideration
- of relevant material and suffers from arbitrariness. ‘

(A) [A] is true [R] is false

(B) [R] is true [A] is false | o

(CWoth [A] and [R] are true; but [R] is not correct explanation of [A]
(D) Both [A] and [R] are true [R] is the correct explanation of [A]

(E) Answer not known

wrle 2y @piear “Bdwem sflasrmd’ Ghsss &Q&ac&TL FaHenNs &(HEIE.
almuug Qgfedled @ymbag Fflwnear ellenLamwid Ggrr‘ergs(Ba;&;mm

giemfly [A] . wearafliy sefis@n sfsmmbd, 161-cug sl o pnler *&%P
WlEeyLd eflflaureng, 3 ThS Gra)ana)mu_:u_;m
Q& maitig.meselldane. .

snyewrid [R] . euGarr/2ieuCrn, ifleveu pe@ Geusd < rmuns Qumpsib,

- eflu pousorer oerhsemat uffdlssts  Qurepsib
2SHBEMD 2 MTTUES ggbl_uuq.@a;@u) Gung ﬁﬁuqam;rrru.ieq
eTenLg) FTSEWDTATETGLD.

(&) [A]l sd [R] souD

(B) [R] &M [A] soumy

(O [Al-eyd [R]-eyb &M pammed [R] cremugy [A] -QEEE sfwnen edarasionsng)
D) [A] womb [R] @usm@u) #f; [R] eramug [A]-6@é sfwmen aS]mé;esmrr@Lb
(E) efer GsNweferena

CCS1P/22 0 B
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105. The process of establishment of an organism in a new habitat is known
as ' ' | -

(AAesis - (B) Migration

(C) Immigration N - (D) Coaction
(E) Answer not known '

- gpif 2 uqif gangj AW eaumfL S8 senenan ellfleyuBSFID AFwe erarug |
A) HeoaluBsgiseo (B) LeUQuUWTE
©O) Eylpssd | )} seellenan
(E) ofleor Qsflueioama ' o

106. Which of the following characteristics of science is not true?
‘(@) - Itis guided by natural law |
(i) Itis testable agamst the observable world

(i) It's conclusions are permanent
@iv) It is falsifiable |

(A) (1), (111) and (iv) only (B) (i11) and (iv) only
©WGi) only @) @only
(E) Answer not known

SileSwiellen ﬁldrsu@l.b uaiurnsaﬂd) gl m@mmdaw?
D Q& Quies sl Lsred il BLSSLLGEDS
- () @g srarssmgw gé)sgﬂgj)@ aflyns Canfésieny g
(i) @ser apyoyser u‘l'bg,lywrrara)a.l': |
(iv) @& QumLLTESS S g
(4) (i), (i) wpmw GV) weEd  (B) (iil) whgd (V) wC P
(C) (i) wr@d (D) (W) i
(E) oo Qsflueiidame . . '

B N - CCS1P/22
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107. Quantum nature of light is not supported by the phenomenon of

(A) Compton effect

(B) Photoelectric effect

(C) Emission and Absorption Spectrum
D nterferer\lce of hight waves |
(E) Answer not known

- geflulen Geunaim Lo Gamdtens SLpEETETLIGDIYET srggab&u.l cllenerency eflerasng)?

(A) sroLén eSlevaray

(B) geflifien eQenemey

(C) 2.8pey Bpwree whpd 2 1 st Hiporae
D) gl soesdar EnsEl( daaray

(E) e Qsfueidame '

l108. LPG is a mixture of
4) CgH,, +CéH6
| '(B)mHm +C3Hg
© C,H,+C,H,
@®) C,H,+CH,
(E) Answer not known

LPG (sovwwié arflaumy) erémig) —————— sQeauun@L.
(A) CgHyy +CeHg
(B) CHy+ CsHg
© C,H,+C,H,
D). C,H, +CH,
(B)  efler Apflucicame
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109. Assertion [A] : Critical thinking focuses on what causes a belief _

Reason [R] :  Critical thinking entails evaluation and formulation

and it operates according to rational standards in
that beliefs are judged by how well they are

supported by reasons. -

(A) [A]is true but [R] is false
(BV’[A] is false but [R] is true

(C) Both [A] and [R] are true, [R] is the correct explanation of [A]
(D) Both [A] and [R] are true, and [R] 1s not the correct explanation
of [A] |
(E) Answer not known
sapm [A] D 2w Apsener, @ m}b‘lﬁl.’séasa)w ghu@sgieuda wpadu
. B | &MTeRTONE SWEDS.
smpextd [R]  :  ebw Apgeear aaiug wdUSH wHpb 2 maurssh ducupan
'&Gﬁ'G‘ITI_é;éﬂtug] LHML NG  uGSsHey &7 BHeesaflemg
Qewou®@dlng. Sibs pOLEGNEMHSIET STFTRISETTD ETEUEUETEY
oL gsfsstiupfemer _Grsis[ugw apeuLd
SroreflasluuHEng.
(A) [A] &fl, gyame [R] seugy
B) [A] poup, e [R] o B
(©) [Al wppd [R] @ranGw s, wopn [R] eaug [A] e sfune
eflen&s10m@Ld '
" D) [A] womb [R] @renGw s, wogd [R] eremug [Alefine sfuner eferésiodma
(E) eflev Qgfweiicrene |
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110. Match the List I with List IT :
List I : - ListII
(Hydrated Salt) - (Uses) |
(a) FeSO, -7H,0 1. Textile Industry
- (b) NayCO; -10H,0 2. Laboratory Reagent
() CuSO,-5H,0 3. Making of Mohr’s Salt
4, Fungicide
5

(d) ZnSO, -7H,0 _.
Manufacture of Glass

(e) BaCl, - 2H,0

(@ ® © @ @

A 5 3 4 1 2
"B .4, 5 3 1. 2
(C 5 4 1 2
5 4 1 38 2

(E) Answer not known

o gwe Iemw ut quied I 2 1 dr Quinmég1s :
I_I_L...I.q.'u.lé.) I T ulguwe IT
(BCrPw 2 114) | (wenser)

(a) FeSO, -7H,0 1. gayafs QzmPe

‘(b) Na,CO; -10H,0 2. yiicuss smyesh

(¢) CuSO,-5H,0° 3. Guomiev 2 (g sumigsd

- (d) ZnSO,-TH,0 4.
() BaCl, -2H,0 5.

| Lpehenss Asmeed]

| seimenTTy SLITASSE

@ ® @© @ @

(A) 5 3 4 1 2
B 4 5 3 1 2
) 3 5 4 1 2
D) 5 4 1 3 2
(E)  ofen QzRwehicraney
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111. If ZEBRA can be written as 2652 181. How can COBRA be written?

(A) 38102181 | . (3)42181
(©) 3182215 o (D) 3182181

- (E) Answer not known

| ZEBRA aneu 2652181 e;ran Gr@g@mb STEPTED COBRA iy GTPSLILIHID?
(A) 3102181 | (B) 3152181
(C) 3182215 (D) 3182181
(E) "aﬁlml_'@grﬂmaﬂs‘bma) -
’ .
112. The instrument used to measure fhe atmospheric ozone concentration is
| (A Dobsonmeter
(B) Barometer .'
(C) ‘Hyg'rometer
(D) - Anemometer
(E) Ansvger not knowh :
auaflamTLwgHler o arer Game @Lﬁgﬁmw éqmafﬂt. 2 UGWNdl&EW smel
(A) (Sl_rrm(‘é&rrdr; S
- (B) | uGym BC L
(C)  eansCom Bl
D) sefGwor S

(E) efen Qgfwrefdvency

B 7% | CCS1P/22
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113. Match the organism correctly with their corresponding order :

(a) Apis ' ' 1. Haplotaxidea
() Leech 2. Cyclophyllidea
(c) Earthworm | 3. Hirudinea

(d) Taenia | 4. Hymenoptera

@ ® © @

@1 2 3 4
® 2 4 3 1
© 3 2 4 1
(D)'( 3 1 2

(E) Answer not known

2 Wflergeng SleupBlen QsTLir e cuflepsu)em sRwnsl Qurmssey

(a) Ggaf 1. aprUGeriréensqur
(b) eienL 2.  assGarn.Gdeligw
(© wany 3.  afigyafiur
(d) promye 4 mguw@eﬁrru@l_urr
@& O @ @

@1 2 3 4

B 2 4 3 1

(O 3 2 4 1
D) 4 3 1 2
(E) een Qzflwefcvency
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114. Which among the following is/are wrong about a fertilizer?

() Fertilize; must be insolﬁb’lé in water d

(i1) It should maintain the pH of 10 £o 13

(ii) It should not be poisonous to plants

(A) Only (iii)

(B)% and (ii)

© @), @), (i)

(D) Only ()

(E) Answer not known

Epstamid sppsafies o iad GHEs samtan sabm erg?

O  orisd BAo sonung Gossd Cadnn

(i) o giser 10 ppse 13 pH g uymofsso Cauam@id

(i) e iser sramiseis g,_sa-,;mm Bmisd airy

(A) (i) wC @b

(B) (1) wpmud (i1)
© @), (D) wppo G

©) ) wipn

(E) efani @grﬂmg]mm f

ﬁ S o CCS1P/22
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115 Operation London Bridge is the
(Ayﬁmeral Plan for Queen Elizabeth II »
(B) Process of selecting the Prime Minister of UK
(C) Joint Military exercises of NATO countries
D) Evacuations due to Russia-Ukraine War
(E) Answer not known '

QOERTL.EST LITEULD HL_6LIIG.HeNE GTEITLIg) |

A)  vammaf @rarLmb adlsQusSen Qmid eaieue Hapeysar
(B) UK Qyzw wpdflew CoirpAsHLLSHETeT Qrudapmn
(C) NATO pr@safter s B Grrgpes LuAHA |

D) reigw-2 sevyer Gumiler Gung QeuefiGLbDD

(E) S AsMueioene

116. Which of the following is/are true about Doppler effect?

(1) Doppler effect in light is symmetric
(2) Doppler effect in sound is symmetric
(3) Doppler effect in light is asymmetric
(4) Doppler effect in sound is asymmetric
(A) (1) and (2) are correct (BM(1) and (4) are correct
(C) (3) and (4) are correct (D) (2) and (8) are correct
(E) Answer not known | |
Lmienit eflenerencul) QUABSS SPEETEDID FnbhDisEHeT cTeney FiliLimaneneu?

(1) geflufe Lmient ellenearey swErneang
(2) @dWe Lriart dleerey swisrrarg
3) gefle Lmiert elenerey sméﬁuﬁ)m@
(4) gdulie Lriert ellenerey F0EETHDS
(A) (1) wpmb (2) shuremees B) (1) wpmd (4) sHureree
©) (3 wpgo (4) sfwrenewas D) (2) wpmb (3) sMwranerey
(E) elen QgAweiicbenen |
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117 Which one of following statement is correct about the aim of Pradhan |
Mantri Uijjwala Yojana (PMUY) '
(A) to provide Health Service and Clean Envu'onment to Rural Women

| (BW provide clean energy fuel of liquified petroleum gas to all rural
households

(.C) to provide clean water and environment
(D) to provide quality food and health
(E) Answer not known |

Qs wpSNGE o Gairer Curger St sHar (PMUY) @en s Gprra;sgmgu
up Sereumid sppsafiss aps @eny ﬂﬂu.lrrarg? o

(A) ssrgnps Comeu WHQID SHSOTE SHHIFS PO aﬂqrrmuu.m) masaﬂ@as@ AT
Geueier o '

- B) sieasg &grrmuu_;m sﬁ@s@&gm SraunrsstulL . &,s,smrran QuL GpmeSiws .
- ey Hpd aiiQurdmer auphiEsD .

‘- (C) sgpwren pemedi LHPLO SONEGYP aipiis Caiar@id
(D) sgswrar o awe) LHHD SSTFTTEDS aphis CauaT@bd
(E) oflenL QsMweldrena | :

118. What are the Forms of Central Bank Dagital Currency (CBDC) proposed
to be introduced by RBI?

1.  Account-based
2. Token based

@ @only . ® @ only
©7) and @) (D) Neither (1) nor (2)

- (E) Answer not known

Ppdu flsics wnd SiPlypsiu@ss eoer  @ww wadblarn Guolflsi Lﬁlarm@
LiaTg Sl SIenILEET crésumpranena? .

-1 ands senig SigUuenLulnang
2. eLwrer ddena | |
@ (D) wien - - ® @ucep
© @) wpgd (2) D) M Goma (2 Goow )
(E) oo Qsfuefidama | R "
B | - 79 ~ ccsipig
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119. The government has initiated the following key aspects for facilitating
the MSME sector :

(1) Access to credit

(1) Access to market

(111) Technology upgradation |
(1v) Social security for MSME sector employers

Select the correct option :

(A) () and (i) only | -
BV, (ii) and (i) only | .
(C) (i) and (iv) only -
@) (), (i), (iii) and Gv)

(E) Answer not known

| MSME @ér srenpeow cralBna@eushE Semisd Lﬁ]df@;@lb Wwafu Sibsmsmang
Qg mrdlujereng,

(1) s gmisd

(1) sHos sgpsDd

(111) Gsmfe plu CubUBSSISD

(iv) MSME -@én gienp eanfliisenésnar sapsis -urrgjasrnhq
GPSGsmens LwarLRSSH sNuner efen_uenans SreTs.

(A) () womw (1) wGo

(B) (1), (1) wpmb (i11) wi Gid

© () wppd (iv) v Go

D ), i), (i) wppid (v)

(E) o9 Qsfwefdvened
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120. Which among the following is/are not associated with “Catch the Rain”
campaign?
(1) The campaign is launched by National Water Mlssmn
(i1) The campaign drives to make check dams and water harvesting plts
(iii) The campaign stresses the removal of obstructions in the canals

(iv) The campaign requested the central institutions to open rain
centres to guide people to harvest rain- -

(A) (1) only | (B) (i) and (ii1) only

(C) (@) and (i1) only 1v) only

(E) Answer not known

Geraumeanaupmer “Catch the Rain” Quisssgiean Qgmmnlédenss) ag?
() @sQussworeag G B vesflwnd Agri ksl L g

() Qbs Qusswrang, §®LJLI66)6WTBSG1T whgd B Csafuy G ;_r,l_mtq,asmasa;a)m |
AL L3N Y
(1) sreaumisafie 2 drar sLSMar SISHD @;_r,g Qussb aisluypssfnsi

(iv) wep Beor Csflss wWEEEREE afSTLL W @wLLE® HDEGLIY Bbs
| Qussd wsHu fineuamismar Cal (s Asrar(Harerg .

A) Q) vl  (B) () wpgd (iii) we@Ew

(© (@) wHmw (1) w G (D) (v) w @

(E) ofler Qafluciidens '

121. The abbreviated term VVPAT stands for
(A) Voter Visit Poll Account Trail
(B) Voter Vivid Press Audit Trail
(CWoter Verifiable Paper Audit Trail
(D) Voter Verifiable Paper Account Trail
(E) Answer not known u |
VVPAT aguid sésiul L s Qena ghluug)
(A)  arssnert aumes uTEQASHUL HL-ApeD
(B) eunssnert Ggafleunar usHflsms sallsms Berrqpep
(C) eunssreri sfunisssbamig srdgs senflsos porapep
(D) eaunsarari sfluniéssomig sTHgs SaTsE HL(parD
(E) eflerr Osflwefdvena
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122. Match the followmg and select the correct answer

(a) Nayak Commlttee

(b) Tarapore Committee .

(© Raj amannar Comm1ttee

(d) Arun Sen Gupta Commlttee

(a)
- (A) 4
B) 1

(ONVS :

@) 3

(b)
3

2
4

-2

(c)
2
.
2

1.

@

A = e

(E) Answer not known

Unorgamsed sector
. .' Centre-state relations

1
2
3.

4

Availability of Credit to SSI

, Cap-ital' ac_couht

Convertibility

SpagLaraipop QunmsS shiurer dlamLaws Coiay Asis.

(a) prwsEwW

®) smmyi Gep

(© @rrguwenenti Gy

(d) &ﬁg@@ Qaen GLST GW

@

@)
(B)
(©)
D)

LW W =

(b)
3

2
4

(©

= D O b

(d)

B R - R

(E) oSl Qsfwelidens

CCS1P/22
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123. Assertion [A] : The desert region of India can be divided into two
parts — “The great desert” and “the little desé’rt”.

‘Reason [R] : Between these two deserts lies a zone consisting of
' rocky land and cut ﬁp by limestone .‘ridges.
(A) [Aj is true but [R] is false _
(B)I\/ﬁoth [A] and [R] are true, and [R] is the correct explanation of [A]
(C) [A] is false, [R] is true | | | ‘ o
(D) Both [A] and [R] are true, but [R] is not ‘the correct explanation
of [A]

(E) Answe.r_'not known

mpp [A] 1 @pHuneier Lnmeauan ugHow Qrean® ugdsamst GRssomb -
“Quilu LTeweieh” Hmib “APlL Lirepeseuamp”,
snyemtd [R] : B A urmeuaisERESamLCw Ltep Ao LHHID STE@TTDLE
& aps@PaeaTne Geul Liul L @ e aoid o @Tengl.
(A) [A] sby sf speme [R] a;mycmb Foug
B) [A] =pp wppw [R] snyewrd Grew@o s,  wHpD [A] spmésrer [R]
SnyeRTid i
(O [A] snpgy geum, [R] smyemrd oM
D) [A] spm wpgn [R] sryewmd @u@r@&: &, epamma [A] SaDMIESTEN SMFERILD
Rl gy | o
(E) o Qzflweiicrensd '
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124. Which one of the statements is correct for Li-ion batteries?

.(A)\/ﬁiile the battery is discharging, the anode releases lithium ion to
~ the cathode | |

(B) While the battery is discharging, the cathode releases lithium ion
to the anode

(C) While the battery is charging, the anode releases lithium ion to the
cathode

(D) While the battery is charging, the cathode doesn’t releases hthlum
ion to the anode

(E) Answer not known

Li-siweft QUL L Aa@nie/ Haseasenee Getaumb spmsaid org eflurerg?
(A) Guiifl Baaflipssd erwnCurg, Li-swelsds Camgdmbg

- Cs5CGsm(H&E euefiliL LG Eng
(B) Guirfl Seralpssnd sewiywCurg, Li-ewelsdr Gag@g,rrq.aﬂ@pg
23,Ganmg (@ eleuaflut_Liuhdlmg _
) CGuLA WBeaGampw a{ml_uLbGurrg,j,r. Li-suaflser %Garrrq.c&@ﬁjg
CagGasnhiéE Qeuefilii LuGdmng)

D) GuiLA enGerbmb L ybGung, L1 -siweflsar  CasCamy Nmbg)
< Camig H& QelafllLiuBeaudeoama .

(E) e Osflweldeame

125. The Beneficiaries of Moovalur Ramamirtham scheme are
(A) All primary school students |
(B) Girls students who are studying from 12t to 5t Std
(C irl students who are studying from 6t to 12t in government schools
(D) Girls students of first generation in schools alone :
(E) Answer not known
geugnit @rromAmSL Sibawnt saed 2 $69508mms AUYS FEHLNeT LwereRad
(A)  s@ass < rbuliuere L TeRTeUfSET '
B) 1gpse 5w eugliyeuey Ludgib wramrefluir
(C) 6 gsd 12-b ey cuenry 5i8lps aw&u LigreRsaflad LuSlerp @ambL L eIy
eueny LU tomemraldlwim
D) LdreRsawed LLab (PS5 S ipern Wrarew oL G
(E) ellenr. Gzl
CCS1P/22 - 84 ' | B
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126. Which of the followmg 18 responszble for protectmg humans from
harmful ultravmlet rays? s '

4) UV-A

(B) UV-C

-(C)\/Gzone layer

(D) None of the above
(E) Answer not known

S aﬂmmaﬁles@m yp ewgné 5§lrrasaﬂm JOTGIE) Loarﬂg;rr«ssa)mu ungETUILg,

- Ulesreugpeueeumidled eTg)?
A UV-A
®B) - UV-C

(C) @Csnan Lot
(D) GCuwé o _eremaney i@

(E) ofenr Qgrﬂ'u_laﬂdnma}

127. M. Visvesvaraya’s birthday is celebrated as Engineer’s Day in India. He
was the Dewan of which Princely state?

(A) . Hyderabad ~ (B) Jodhpur

(C)‘&ysore (D) Gwalior

(E) Answer not known -

M. aﬁ)du@mdumuu’.ru_:-naﬁls%r Gppsprar  @bHureller  QumBlunari Semonss
QanamLm_Lu@Epg. s abg sweavgrager Heuramms Qmbsi?

(A) eapgyruns ‘ (B) ngggﬁ |

© ovei O gandu

(E) &fen Qasflweiivana |
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128. Which among the followmg statements 1s/are best explaining the
objective of “Ennum Ezhuthum Scheme”?

L

II.

III.

(A)
(B)
©)
D

The scheme is launched to help the children make up the loss of
learning due to corona pandemic.

The scheme is launched with the purpose of education for all.

The scheme is launched with noble objective of fastening equality
1n society.

The scheme i1s launched with the aim that all chlldren below
8 years of age should be able to read write and know numerals by

2025
I only

I, IT and III only
II and IV only
and IV only

(E) Answer not known

“eTaiTamyLD Gr@g,guua L gSlen Gprra;srmasaam 1Yl etrev(mLd mmga;aserﬂeu &gl eﬂgpuurra;

eﬁlmas@élmg;'P

I QanCrmern CQUEmBBEASTOY SrwsHad Ul L ShHme @mgpun@smm A&
GYHMSEHEHEE 2 Soylb eumerTd Q&AL L 1b QgTrisl 1L L g). '

II.  smaeumegb s adn Coréssgiar @A L1 Agm ksl L g).

L. swsgio sapspms amises e il Cprsdléd EHLLb QFm_EEILLL g

IV. 2025 gb ya@mgp@er 8 auwugsalul L oarss) GRbSEEHD- TS,
UigdS WLOMLD  cTaTEameT aq@g)g,mrr&mrras Lnrrmgja.lgj crenp GHISESHIL 6
@S L1 dgm_misiiu’ L g

(A) Iwvi@Ewb

By LII lbrj)gan_III (b

(©) II wpmw IV w @i

D) I wimn IV wl o

(E) &ferr Qsflweldene
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129. Read the following passage and answer the item that follows :
Agriculture continues to be the backbone of the state economy, as it
provides livelihood security and food security. The overall crop yields in

_ the state is bright. The South West monsoon rainfall was normal and its
even distribution helped to recharge of groundwater considerably and.
kept the state with adequate storage. All these factors made the
irrigation scenario in the state encouraging. As a result more area was

- brought under cultivation. The government also provided adequate and
timely supply of inputs through its agricultural extention centres.
Sufficient and timely crop loans were made available for the eligible
farmers through primary Agricultural Cooperative Societies. -

Which of the following is best implied in the passage?

A) iculture of the state still remain a lifeline for the people

(B ue to proper rainfall and government effort to. provide
agncultural loan and inputs agriculture turned prospenty

(C) Primary agricultural cooperative banks play a crucial role in

‘ agricultural development

(D) Over exploitation of ground water to agncultural sector w111 affect
the growth of other sectors . - |

| (E) Answer not known

Génaumib uGHeowsLs Lig E55 él% G,srn_rrw GU(IHLD aﬂmncﬁ]m@ aflenLwafl.

mrr;ﬁ]a)u Quimerngmysdlen @g@&gmun& CauamnamentoCuw Glgm_rr;bg o_deng). @F

ampémss Azmfid urgsTiUWL WHDID 2 el urgsTumub Selsdng.

wrfled vl daassd Grsnswns Gmedpg. AsaGpEl Lmeauwampl Aurfay

Queunse b eyl ugHsaigib swwrs Qmbssrd Hadsy B MU _ssés

ey Bar  Amb9wg. Cugnd wrflesdd Curdu ewerey B @oUuy DEHEHSS.

Pocuueasss smaflsend Csipgy giursa Gooo sassuuBSHug. Qs

dieerauns oifls Homsar uulfciulLar ssn CGurfu Geuamasr 2 draf(Haamensd

sflwren Cprsfo Ceernem ciflunss ewwhisdr paid eauphdlar. Guruwiersy

vilrssLenr shlwmen G;bqgsﬁm s@&dyeter  ellausmulsEnéEs Gg,rrum Cauerrmesr

Sl (HPey FEISRISET apald Sl &8 auens aiuiulL g,

Qeneugpd  ehss  Qemp@pmi CuwCe edrar usHulen Q_L.asqmjgmg;a: eﬂgpuurra;

GeuefiaQameamrrdlmg? - |

(A)  wmfle CaarmemeCL EsEHEE GeaTmd &u&]rruurra)gu_:rr.s 2 GTeng)

(B) sfwrer werpl@umBairgb, Geverrawr o craf(Rser wHMD SLer ey
Sifle pwHSwrgb GeueTraRTenlo QE@UUGDL.!D@GITGT@

(C) Gaiarmar s19elmsHGc AsT s Caeman s Hpey cuhdser apsdw urEJ@

- aflsfampen

D) Ceaemmamerwsm@ Hlogsy By Bensuinst uu.#anu@ggja.igj Gp gieopsafien
cuariréflenwis unEl&Ew .

(E) eflen QsMwefdena
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130. Match the following :
" Health Programmes

(a) Tamilnadu Health System 1.

Reform Program

(b) Tamilnadu Health System 2.

Project

(¢) Chief Minister’s 3.

_Comprehensive Health
Insurance Scheme ,

(d) Tamilnadu Urban Health 4.

Care Project

| y ®» ©

2
B) 2 4 1 3
© 4 1 2 3
D) 3 2 4 1
(E) Answer not known
SEpsanamueuhennL AUTTHEHS :
SSTHTTS Ql;l_réjaﬁc'rr

(a) sBPBETH sETFTT D@L

m&L L eniild L 1b

(b) sVPBHIG F&ETSTT epOLILS |
S b

(c) apswamwssier adfeurer
st (s Al

(d) sBPpBETH By &rasngngg AL ib
@ - b @© @

A) 4 3 1 2
B 2 4 1 3
© 4 1 2 '3
(D) 3 2 4 1
(E) e Qsflueiidrenas

CCS1P/22 88

Aims/Goals

To provide modern and
sophisticated health care facility
for poor

To improve the health outcomes
of urban poor

To improve the health of lower
Socio-economic groups

To achieve SDG-3

@@é@&ndweh

1. Bele opMID 2 WTS) HSTSTY

cusdlaener |
FOYPSEHES Siafss

2. BET Tenpsafien

< Crrsfugens 2 WSS

3. sps-Qunmeatnsy S[BéH0

&Cp o erereuisaficn
R Crraflugens 2 Wiss

4, SDG-3-g e w
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131. W}uch is/are the provision mserted in the Central Umversmes
(Amendment) Act, 2022

(A)
(B)
©

Establishment of Gati Shakti Vishwa vidyala

Providing high quality teaching, research and skill development in

- diverse disciplines related to physical sciences

Upgradation of State Universities to Central Universities
lsroviding high quality teaching, research and skill development in
diverse disciplines related to transportation, technology and
management

1 and 2

2and 3

i and 3

OW”7T and 4

(E)

Answer not known

* SHUL LOES®E SLPEEIET (HHESD) &L'..l_Lb 2022 6 Gorgsi’ L sp5gb86T o15?

1.
o

Y
(B)
©

D)
(E)

&8 s68 cllayaueiGuen gﬁlgmuun_a)
@u_:g_r)lﬁ]u_lso <iflefwe Qsmiumen uw(ﬁsugj seopsafled 2 wisy sHUASSD,

2 TmLES wHmb Hper Gobur® PHwedenn cphiEse

mnﬁsﬁﬂ UDSMQVESHPEHIENET wgsﬁu.ulr LOE@DOEEDEHRISATISS SIID 2 UITESISD
Cursgeursg GQemfle miub wpmbd Guendreio Ggrn._frunm .LIGi)GQ.IQI
glepsaie 2 wisy sHUSHH < Tmiss wHHb Hpen GobUTL ML auPkGH

1 wpgid 2 |

2 vpopw 3

1 wpmo 3

1 womd 4

eflenL QgMwciicovama

89 | CCS1P/22
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132. Assertion [A]

Reason [R]

Indian Government has taken up economic
programmes for benefit of SCs and STs.

Provided small loans for the poorer section to help
them to earn money through some secondary sources
such as toy-making, basket making, agarbatti and '_
beedi- rollmg, tallormg, shoe makmg etc. '

(A) [A] is true but [R] is false |

. (B)\Aoth' [A] and [R] are true, and [R] is the correct explanation of [A]
() [A]is false [R] is true | \
(D) Both [A] and [R] are true, but [R] is not the correct explanatlon

of [A]

(E) Answer not known

s [A

smyaurd [R] :

QA sirFThED Qun@mﬁgnum q'rrr'r;isg Sl _tisenerd STHSFUILILL
LHL  weeamp Qar . E&sE T uwardugd  eemsufe

QawuouBsH5Eng.

Qumbenn QLIS el PLED, J6TUGS wHDID Sy SHDSD,
slefls egwesd, sroamfl gurfigsd Curam Ay AgmfosErigs
sLen Qar@Uuger aAped gl WESHT Glenewm aIHLIAID QuD SNg%

2 g6l Qswiflpg).

(A) . sy [A] oA syeammed srperid [R] 5@.@1
(B) smpm [A] whpw SEmyeRLD [R] @uam@m sfl, snyewd [R] sapm [A]-&amen

sflunen eflarésLoELD.

©C) &=pp[A] seum &rn;raurm [R] &M

D) spmy [A] wogd smend [R] @Qran®n &M, a;rnyamn [R] axg)t_m [A]—sa;rran
sfluren edlerésEwéew

(E) oo Qsfwedens

CCS1P/22

90 : | A B

Click here to Visit >> www.govtjobsnet.com




133. Assertion [A] : When price decreases, purchasing power increases,

and vice versa.

Reason [R] : When the production of goods decline, thé price of
goods increases and then the'-purchasing poﬁer is
affected; |

(A) [A] is correct, [R] is false |

(B) Both [A] and [R] are false statement

©C) [A]is cofrect but [R] 1s not a correct explanation

(D)\/ﬁ\] 1s correct, [R] is the correct explanation of [A]

'(E) Answer not known

&pm [A] Mo @oppsrd g &8 fsfsfps wopDd Qs
" Crpirpreng).

&TTERTLD [R] : Quirmeflenr 2 pusH @a)mﬁg. eflenew a;iﬁastﬂuugrrd) gl SHmer
urr,é]ésa;u-u@ﬁg)g‘i. '

(A) - [A] spgy sflwnang, [R] a;rru@n.bgmmnmgj

B)  [A] s wpmid [R] smyemd QranGid seprag

(©) [A] sy sflwurensy, gpame [R] srpeamb sfwrer efarssid S

(D) [A] smpgy sfwneng:, [R] snpemrid sapmy [A]-an sflwnar eSlenésn

(E) aﬁ]sm_@gﬂu_laﬁlcbémo ..

B : | a1 'CCS1P/22
' ' [Turn over
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134. Choose the cofrect matches

1.

(A)
(B)
©)

Art 371 -
Art 371A —
Art 371D —
Art 371 H -
2 and 4 are correct

2, 3 and 4 are correct

1 and 4 are correct

(D’/l, 2 and .3 are correct

(E)

Answer not known

Provision with respect to the states of
Maharashtra and Gujarat '

Provision with respect to the state of
Nagaland

Provision with respect to the state of
Andhra Pradesh

“Provision with respect to the state of

Tamil Nadu

EART @grirumen sflurer Aunmsshismer Coiay Asunuab.

1.

@
(B)
©)
D)
E)

CCS1P/22

S8371 00 -

LDADTITEiRlq FIO WHMID GRITS Lbrnjﬂe)rémdr

- Qgmitumeng

a8 371 A -
@98 371D -
98 371 H -

2 whmd 4 sflwrereney

Brsnenbg wrfleown Qgrfureng

2 bANArCss wrflew Gm_Turerg
sWPBTH wrflan AsrTurang |

2, 3 wpmyb 4 sflureeney

1 womib 4 sAwrereneu
1, 2 wpmb 3 sflwnereney

Gﬁ}GDL; GzMweiicene

92 -
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135. Match the following : |

Chairman - | ~ Committee
(5{1)' Kaka Kaleekar 1 Tribal Development
(b) Xaxa 2. Tth pay commission
(¢) Mandal | | 3. Second backward class commiS'éidn
(d) Justice A K. Mathur 4  First backward class commission

@ ® © @
@1 3 4

(M 1 3
€ 1 4 3

D 3 2 4
(E) Answer not known

N NN

- Sp&saTLsuhenpll QUTBESIS :
- o)
(a) ansnsCasit | 1. upriGguleani der@arﬁ);pﬁ
(b) angen 2. Taug eaflus Gug
(c) e 3. . Qrar_reaug GHuBSsLLLCLAT G

(d) édvlq.ab AK. wrggit 4.  psereugl ﬁlﬁ)u@gguul'_(‘.’n_rrr'r@@
(@ ® @ (@ |

A 1 8 4 2
B 4 1 3 2
© 1 4 38 2
M3 2 4 1

(E) e9en Qsflweiidvena

B | - 93 - CCS1PZ
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136. The objectives of the District Mental Health Programme are

1.

Gy
(B)
©
D)
(E)

To provide menfal health services including prevention, promotion
and long term care at District health care delivery system -

To augment institutional capacity in terms of infrastructure,
equipment and human resource for mental health care

Facilitating the mental health services at doorstep

To promote community awareness and participation in the delivery
of mental health services

1, 2, 3 only

2, 3, 4 only

1, 2, 4 only

1, 3, 4 only

Answer not known

wreul L werpas Sl sden @;ﬂé;&’&rreira;mrrmm |

1.”

(A)
(B)
©
D)
(E)

CCS1P/22

-

e’ L s&rgrrL ungisriy eAblCwns sewlitd sGiy, uged 2 Wiiey LOHOID
Bawr_ e ugmofiiy 2 drafi L warped Coanausaar culpmkiEseo

LT LITGSETULESTET Q_G'ITSi'_L_mLDL'l.L] 2 LIS RTRIGET LD'l_f)g[L'b weflg euarid
cﬁ,@u_lmm;ﬁlar énq.uuml_uﬁla) Ppesar Speen sifafssed

Gﬁ@Gﬁﬂ'@]LD Loasrma) Geancusaner Gl‘ﬁﬂﬁﬂ'&@ﬁ@)

FAPE aﬁi@uqmnmm m&@@&]gﬁm Lo;pgm warpe  FETET  Gemeusamer
auiprigeudler LGEHDD '

1,2, 3 bl @b

2, 3, 4 @b

1,2, 4 v (p

1, 3, 4 b Qb

eflen GgMwelidena

94 ’ | B
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137 Arrange the followmg events assocmted with Penyar in chronologlcal

order :

1. Vaikkom Satyagraha

2.  Non-Co-operation Movement

3. Kallukadai Mariyal

4. Leader of Chennai Congress Comm_lttee
AVT 3, 4,1 . ®B) 2,4,3,1
© 21,34 D) 4,231
(E) Answer not known : |

QuAwrEHL T SbLpSLILLL. Bsipeysenars snew euflevstiug euflens LHSSeyD.
1. eadsdssdurfrsn

| 2.  gsgepwred Guissd

. 138.

3. asdr@é;me_ wilwe

4. Qedrmen sTRIATED SO 1 SOOI

A) 2 34,1 . @B) 2,4,3,1
(© 2,1,84 C D) 4,2,3,1
(E) der QgiﬂhaSlc’um '

Choose the correct chronological order :

(A) Rajadhiraja I, Parantaka I, Kulothunga I, RaJ arajal
(B) Kulothunga I, Parantakal, RaJadhlraJa I, Rajaditya I
(C) Parantaka]l, Rajadhlra]al Kulothunga I, RajarajaI
(D)\/P'arantaka I, Rajaraja I, Rajadhn'a]a I, Kulothunga I

(E) Answer not known

S a‘nﬂm&ﬂuq sflwurereupenp CorpEAsBH&/ WeaPLLBSHS :

(A) @orgrigrgen I, uunﬁge_sdsrl_, aCanggmser I, @orarmager I
B) @Carsgrserl, L:qrqbgssa'n'l, @rrgrfrnggen I, @orerdsHur I
©) ugmpsasert I, @orgrdiyrger I, Corsmtiser I, @rrgoraen I

(D) uprpssan I, Qurgrrgen I, @rrendyrggen I, EConggmsan I

(E) oS Qzfwehiérency

- 95 o . CEStP/2Z
S {Turn over
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139. Which chapter in Th1rukkura1 reflects the Northern Scholar’s ideology of -

- philosophical knowledge?

(A) Not Killing - (B) Instability
(C) Renunciation’ nderstanding the truth

(E) Answer not known

aLporiiar  ‘gggieu  eprend  aargd  SmSas warefllpsgin  Homs@neticn
SFsrSnss sanr_Hls. :

(A) Qsroemen B Hlevewireno

©) aney (D) Quuw e amriige

(E) e Qsflueidena ' '

140‘. Which of the following titles are related with Pandyas?

(1) Minavar
(i) Villavar
(1) Kudavar
(iv) Panchavar

A) @ only (B) (i) only
(C_)/(i) and (iv) only (D) (ii) and (ii) only

(E) Answer not known

Demeu(BLd UL L rsefled LTamiqlL eTetTaEhL 6t QST WS 675 ?
(@) Bemeur
(i) efeeeur

(1i1) @Leur
(iv) ugpsaur . |
@ () oew - (B) @) o

© ) wpp> (v) w Gb D) (i) wppd (i) e Gid
(E) oo Gsfwelierena S

CCS1P/22 | . 96 - B

\

Click here to Visit >> www.govtjobsnet.com




141. Who said, “Tamizhodu Isaippaadal Maranthariyen”?

(A) Thirugnana Sambandar | (B)Vﬁirunaavukk_arasar
©) Sundarar_ (D) Manikkavasagar
(E). Answer not known o | |

“SLOCTH @esILim_c ng)‘rj,g,@(ﬁusisl’ ’ ererTs LiMig et WHTi?”

(A) ﬁl@@nﬁ&l&&u;ﬁgr’r B - (B) ,ﬂ@prrmé&u&r’r
(C) apgoi (D) vrefsscunssi
(B) &fen Qsflueldveney |

142. Which Tamil Poet injected the spirit of Nationalism and National

Integration? |
(A) Bharathidasan | (B)” Bharathiyar

(C) Sudanandha Bharathi - (D) Kavimani
(E) Answer not known -

TiHS §LI5]Q seflesi Gl wpmib Gl GreLILIT ig.6 e;euurr'rmsmm SII6T g GOVITIT?
(A) urgdsneen | (B) umpfwni |

(C) sgraps umgd D seflwefl
(E) &S QsAwelidvenc

143. What was the royal emblem of the Rashtrakutas?

(A) Lion ~ (BGolden Eagle
(C) Tiger (D) ‘Elephant
(E) Answer not known

 peiyiq je1_isafien Calw Herenid Gréan?
(A) &mswd (B) susswe

(C) ua (D) wreven
(E) eflen QpRwaiidame - o

B ' ' 97 ' CCS1P/22
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144. Which of these actions cannot lead to Truth-Consciousness? -

(AW Porul Allavatrai Porut Endru Unarthal
(B) Saarbu Unarndhu Saarbu Keda Ozhugal
(C) Aiyathin Neengi Thelithal '
(D) Sirappu enum semporul Kaanpadhu

(E) - Answer not known '

Spasramiicuhger g Ly eriggusster dewaun( gome?
(A GQn@dr Sid@apenpl AUITHET cTeny o T |

(B) sy e ewripg) &y Qs @GS

(O  gusdan fruds Qgafige

D) Hooy erengyb QFEDAUNGHET SreTUS

(E) &fenc Qeflucioens '

145. “Vendharkku Oli” - What is the' meaning ‘propounded m this
Thirukkural? o .~ ‘ :
@) Kodai (Donation)
(i) Ali (Kindness)
(i) Protective Sceptre (Sengol Kud.lyombal)
(A) (@) only | (B) (1), (i) only
©) @, @) only ' (DV), (i) and (iii)
(E) Answer not known ' | '

“Gmpgn&@ geflwreug” eremy HmEGpET cr,sa)ar& &gﬁmmg?
() QsneL

(i) oef

(1) QerCard Gy Cumbue - ‘ |

@) @) e | B) G, (i) w G
© @), (i) wepi (D) ), (i) wpge Gi)

(E) oflen Ggflweiicrenes

CCS1P/22 - e B B
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146. Match the following : |
Thaer Chakkaram
Ai'akkan

(a) Thaarugan
(b) Aazhi

(¢) Natriram Thevar

A

(d) Imaiyavar Araneri

@ ® © @
A 1 2 3
v 1 4
- (C) 3 1 2
@ 4 3 2
(E) ’-.:Ans'wer not known

L S - A N

AuBEES
(@) snmser 1. Gsissasmn
®)

©) ppdipo

DITEHEE

Lo oo b
2
q-

(d) @ewweurr ‘élw@‘!b@

@ @O @ @
@ 1 2
® 2 1
© 3 1
@) 4 3
E) eflere Asfucidama

3 4
4 3
2. 4
2 1

B o 99 CCS1P/22
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147. Match correctly the Excavated information with the Excavation sites :

(a) Thanjavur excavation ‘ 1. ~ Roman Pottery
(b) Kilaiyur excavation 2. Centre of Buddhism

(¢} Tirukkampuliyur excavation 3. Comlrﬁercial contact between
Rome and Tamilagam

(d) Uraiyur excavation 4.  Culture of Kaveri

@ b @© @
oA 2 1
B) 3 4 2
(C) 4 3 1
D) 2 3 1
(E) Answer not known

=N o= W

Sispey (OsmoQurmer) ormisdllder @Lb LHPL S SHD SEuLECaT(H

sflwunreneupenpl QUNmHSHIS :
(8) sErsTayT SBPUTIMLFS 1.  Gymomeflws L Limasr_riiser
(b) Eepwt SispauTymiEs 2. u§sws WD
(& éé;Lbu T SISLDEUTTTILE . grLOIRTIU(RHEELD ¢ MEHEHEGLD
©) Posaoydlyt sspanymis 8. GororeluGseh SURisEnsE
: : ' Be.Cu 2 drer cuanfls Qam_riy
(d) e mpui sispamImLEs. _ 4.  snCeuflulen semgsmyd

@ ® © @@

A 1 2 4 3
B 3 . 4 2 1
€ 4 3 1 2
D) 2 3 1 4
(E) e Qefwefevency
CCS1P/22 B 100 _ | B
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148. Which among the following Inscriptions mention the ancient word

‘Madura’?

(a) Inscription at Siddharmalai
(b) Inscripﬁon at Alagarmalai
(© Ihscription at Mamandur
(d) Inscription at Paatipuralu
(ANG) and (b) only
(B) (a) and (c) only

- (C) (b) and (d) only
(D) (c) and (d) only
(E) Answer not, known

Yoy Qe Baallér erhss "se'v@suf_qeb ‘ngIgT erengh LpenwITer. QgTe

GHMI UL Hereng?

(a) &gsivee &é@mt.@
(b) sipsivaw @@m’.@
(©) wnoar@i oG @
(d) ursfuyrey s&Qaul B |
(A)  (a) wpgid (b) G
(B) (a) wpgid (¢) WG
€ (b) wpgd (d) W
D) (c) wimid (d) L Gid
(E) - oo GpMuadcrane

101
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149. Who speaks the following lines in Barathiyar’s ‘Panchali Sabadham’?
“Tharumathin Vazhvudhanai Soodhu Kavvum;

Tharumam Marubadi Vellum”.

(A) Panchali

(B) Kannan
(C)/Aﬁunan
D) Tharuman‘

(E) Answer not known

"‘g,@mg,ﬁm QUMDEUS & GGl Heu6yLD;

HGLOD YL Geidgid” |

- urrl;r,é,lu_lrrrﬂ& umEsEnedl FugSHD QFenens Q&rré)ua.nr’r WImF?
(A)  ungpered

(B) sememen

(C)  airézancn

(D) smwan

(E) e Qsflwefdrena

CCS1P/22 102
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150. Read the following and pick out the correcf statements :

@)
(11)

(i)
(iv)

GV

Musical Pillars is one of the wonders of the Nayakka King’s Rule
Music created by rhythmic hitting of stones is wondered ‘by
- International Musmlans '

In the Thousand Pillared Hall of Meenakshi Temple in Madural
one can find small pillars that exude music when played upon

_The Arthanaareeswara Temple at Rameshwaram consists of Pillars

than can be played to bring out the seven swaras (Notes)

(1) and (i1) alone are correct

(B)A); (ii) and (ii1) alone are correctr :

©)
)

(i), (i), (iii) and (iv) all are correct

(i), (1) and (iv) alone are correct

(E) Answer not known

(Ylemeu(hLd ng;mnu:uq.gg]& sllurenenss CsbEAsHEFa D

@)
(1)

(111)

(iv)

)
B)
(©)
D)
(E)

BTLES wenaniser 2 Hule o meuren lLSSE SILLIL| GESEIRTEET YGLD.

soard @esaw eripULb asmw‘@r'ra;aﬂén dsUGTERTID SaT([), Lenenm B

2ifesisiend eflwpg Curdpdlermenrt.

LOGien T e Awsbioér Gamudeller 2 erer yuipmsred e usdd L. Sy

gnemser o ararer. @de gaCanm fn si@bn Qas @l aULeuMmSS -
STETQMLD. 7

@orGueveurd SifggpTTeveupt Camullddle o drer grewraafldr gy aveurmIseT

glssutfamss CoLsamb.

(1), (1) pHweas i Pud &l

@), (@), (1) fwena LG s

@), (1), (), (iv) S@agHb &

(@), (i) wpmp (v) YHueer LB &l

eflen_ Gglﬂmsﬁld)anw' ' |

103 CCS1P/22
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151. Choose the right answer :

Which of the followmg statements are true about the Cholas?

@)
(ii)
(iii)

(A)
(B)

The first mention of the cholas is in the Asokan 1nscr1pt10n
They were independent rulers in Tamilagam |
Kanyakumari Inscription and Anbil Plates give information of the

early Cholas

(1) is correct

(1) and (i1) are correct

OV, (i) and (iii) are correct

(D)

(1) and (i11) are correct

-(E) Answer not known

silwnren elenL_ewws CoibOsHES :

-8(39 Qer@ssiu_Herer eurasugslen G&r@r’rasﬁ updiw sfwurer eursflwGnss sams.

(1)

i)

(111)

)
®)
©)
D)
(B)

CCS1P/22

2Gsns sOAa_lg.é Campisdt LHH wpsd (perpTs GAIAL (1L Garans.
sllpasder asnhly Dipens &@r‘rasei_r eflerrmidlent.

a;drraﬁmrr@mrﬂ sOQeur_[Hser Lo;bng wianded sreanpd Csmpiser LHHW
SHCUWMSMENS FayF D).

() LG shuras

(1) wpmib (ii) L Hib sfwreng

(), (1) womo (1ii) sfwrerg

(1) wHmo (i) Fflwinang

eflenL Ggrﬂu_laﬁlsi)mw

104 o : B
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152. Find the missing number in the place of ?.

1 213
4 5 6
7 8 | 9
27 | 38 | ?

(A) 49

(B) 50

(C)/E)l

@ 52

(E) Answer not known

AGULL cTaTenesT Sres.
1 2 3
4 5 | 6
7 8 19
27 | 38|

a) 49

&
- .(C) 51
D) 52
() oo Gafucivme
p | 05 | CCS1P/22
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1563. Four pictures of a cube are given below which number 1s on the face

opposite to 3?

'

A 1

B) 2

(V%

® 5

(E) Answer not known

sasgnpHen prang aeguLkisar &Cp Qsn@ssiul@etatar. apg adr 3 @

THTUSSLONS @) (56 (LpigWLD. |
’ I oo Cm v |

A(A) 1
B 2
€ 4
@ 5
(E) e AsMuciéma:

CCS1P/22 | 106 - | B
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154. The next term of theﬁ .Alph_amimeric seﬁeé C4X, 'FéU, I16R, 1s |
@A) _K25lP‘ - (B) L25P
(C)Vﬁso - ) | (D) L27P
(E) Answer‘n.ot knoﬁrn |
C4X, FOU, I iGR_ e croin Qe 0B @gn;:ﬂd) <OE5 iagaq
(A) K25P | - (B L25P |
© L1250 : (D) L27P

(E)  efenr. Qgrﬂu'_l_ﬂﬁld)mw

155, A mat of length 180 m is made by 15 wbmen in 12 d'ays. How long will it

take for 32 ﬁomen to make a mat of length 512 m‘?
(A) 8 déys o o _ ~7 (B) 12 days'
(C /16 days .  : . (D) 20 days
_(E) Answer not known | o
180 8 ﬁm@dn‘m e urbenar 15 _éuaimseir 12 pr sefied G&u'_l;ssurr'r. 512 LB ﬁe‘r@du‘m :
. @ umSlener 32l QueradT Qe esBPaT ﬁ;rLadT Yy .' |
@) 8 priser . . ® 12priedr
©) 16 prisar o D) 20 prsar
(B e Gpfuciome | |

B P 107 “ . . CCS1PA22
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- 156. Find the area of an equilateral triangle whose perimeter is 180 cm.

(A)\A%SS.S em? (B) 1885.5 cm?
(C) 1585.8 cm? " (D) 1888.5 cm?

(E) Answer not knbwn :

180 @s.15. spparey QsTETL G5 Sl0LES (PEGETaESen LTI STeins.
(A) 1558.8 Gs.i52 . ® 1885.5 I

| (O 1585.8 Qs.82 . (D) 1888.5 Gs.15.2
(E) oo Qgfweiidera | |

|

~ 157. The CI on T 15,000 for 3 years if the rate of intérésts are 15%, 20% and
25% for the I, II and III year resprectively 18 |
(A)\,/t 10,875 \™ (B) ¥ 10,785
(© 10,885 A O 10775
E®) Answer not known |
I, IT wpg ITT %@g@w aul . S5k apenpCu 15%; 20% wpgip 25%
crafiér T 15,000-4 3 apar i HewLigib aul . sresrs. |
A) 10,875 | (B) 210,785
) T 10,885 | | D) 10,775

(E)  &fleL Ogfueidena

CCS1P/22 L 108 B
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158. An apple costs ¥ 60 a guava costs ! 90 and a mango costs T 60. How

159.

much a pomegranate cost?
(A) T60 | (B) T 90
(C) T120 - (DWT 150
(E) Answer not known |

S P (Apple) eflewe T 60, g Qamiwr (Guava) edeme T 90 LHHILD (m
wmbup (Mango) slee T 60. gm wirgieer. (pomegranate) eflene ereucuerey?

(A) T 60 . (B) 790

© T120 | D T150

(E) ofen Qpflueidena

In what time W111 T 8,000 at 3% per annum, produce the ‘same interest
as ¥ 6,000 does in 5 years at 4% simple mterest‘? |

(A)/years - (B) 55 years

(C) 8years | - (D) 3% years
(E) Answer not known

<50 ¥ 6,000-5@, 5 em@sefid 4%. iy eigsde ﬁml__é;@tb gsoﬂem'_lq_utb DIFD
T 8 ,000-5@ 3% euliy Ss5Hd eﬂml.&'.@m gafl auliqujd FOME @@a;@u) erafled,

e{;m Y ET(DEET GTEUCUETEUNS @@&;@m?

@A) 5 syer@sr - . ® 5% s
©) 3 pyanGsdr D) 81 mengee

2 )
(E) oo Asfuedime |

w9  cesipmp
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160. IfA:B=2:3,B:C=2:4,C':D='2:5,then,A:Disequalto'_.
(A) 1:5 ®B) 2:5
© 3: 5 - @15
(E) Answer not known |

A:B=-213,B;C=2:4,‘C:D=2:5GTGDﬂ@AZD-&@ELDLDITG&TQS]@ng-_
A) 1:5 - (B 2:5

© 3:5 - ' (D)2:15.'

E) e Qgfuciime |

161. The Lowest Common Multiple (LCM) of two numbers is 6 times of their
Highest Common Factor (HCF). If the HCF is 12 and one of the number

is 36, then the other number is
(A) 48 | - ® 712
L L Dz
- (E) Answer 'not kn‘oﬁvn | |
QarhssiiuiL. @@ cansaflar S&fimy Gurrg .LDL.-I‘EJQGBT mﬁu.urrng, 2jeuail(m
cramsefiar BLGU@m Gurgé erpaflufier e ofilL, 6 Lni_n'sj@.a{,ﬂ‘smrr@jl.b. Guogyp
siciedm erarsailan BUAL® Qung srrafer wAUL 12 oppb Sicuell eramseia,
@@ asﬁvraurﬁmg; 36 arafle, wHQAm(s eramenfien WL
@ 4 - (B) 12
© 24 Dz
(E) 'a‘jlqm Qg Mweldvena

CCS1P/22 S me | B
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162. Find the HCF of the polynomials

3x3 —12x% + 21x -18

- @ [ -3x+2)(x-1)-3

163.

® (x*-3x+2)x-2)-3

VB -2)

M) (x-2)(x-1)3
(E) Answer not known

6x° — 30x% + 60x — 48 and

6x3 — 30x% + 60x - 48 LOHMILD 3x% — 12«2 +21x 18 dlu veogImiys

Csrencusafien 5.Qur.au. sTes.

(A) (x -—3x+2)(x—1)-3 |

(B) (x3—3x+2)(x—2)-3

© 3(x-2)

D) (x-2)(x-1)3
(B) ofen Aglwelicoema

Simplify : 100 + 8+ 2+ {(8x2)-6+2}
(A) 123 S - (BY107
© 113 | - (D) 103

| (E) Answer not known

".

-&@&@5 100 + 8 = 2+{(3x2) 6+2}

A 123 | _- (B) 107
(O 13 — - (D). 103

| - (E) _Gﬁla)l..@yﬂu.lsﬁlé)a)éi

111

’
L

CCS1P/22
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164. Which of the following statements about GST council is not true?

1.

(A)

- The members of the GST council choose one amongst themselves to

be the vice-chairperson of the council.

Every decision of the GST council shall be taken by a meeting of
not less than two-third of the weighted votes of the members
present and voting. o

One-half of the total number of members of the GST council
constitute the quorum at its meeting. '
land 2°

2 and 3

(C)\/and 3

D)

1,2and 3

(E) Answer not known

gleravtg. seyendler LHHiul lQéTG)J@Lb SiMEemssefle eTg 2 arenwicda?

1.

(A)
B)
©

D)

(E)

CCS1P/22

eroivly.  seyendled e pulertadr shisafldr Qmeuany soyandlllen gmerts
smaalrns Gsie Qeiiflpriser. '

gleravly seyendledlen gelGeunh wpye|b Sebhg CErarEnD WwHmb mrrésasetﬂé@Lb
2 mUndenisefien cuns@saia apaniled Qren® UREDGS GODWIS ol L SESTd
er(HEBSLILI(HLD. '

Blereviy. seyanFlellen Qwnss 2 mulbantseflen aarafismsuiie urd Cuir oiFer
Sal_ LSSl Gennhg aramantlsamafioner suGT Lk Qumeur.

1 wpmw 2

2 wpHmd 3

1 ipmubd 3

1, 2 wpgw 3

eflevr GgMweildene

12 ' B
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165. Pick out the correct abbreviation for the word ‘PURA’?
() Providing urban amenities in right areas
(B) -Providing usual amenities in rural areas
(C) Providing urban amenities in regional areas
(DW”Provision of urban amenities in rural areas
(E) Answer not known
‘PURA’ créngy v Qenéredlear eflwunean eliflcursssangs CorbOsBés.
(A sflwner u@@a;qﬂsb BETILD UFHEET QuIPEIGHS
(B) dymod LEHseRe aupEsLTE UFHEET AUPRIGHD
(O wvean eu ugdsaie paiuyp cisflad auphiGssd \N D
(D) dymotiyp uEdsaie paiiyp cusdsmear gHLGSSS0
(E) oflenr Qs fiweilcrener

166. Which of the following measures have been taken to attain the aims of
the new industrial policy? '
(1) Industrial Licensing
(2) Foreign Investment
(3) Foreign trade Policy
(4) Public sector management

(A) (D and (4) only (B) (2) and (3) only'

(CW(1), (2) and (4) only D) (1), (2), (3) and (4)

(E) Answer not known | '

&g;ésassﬁuTLaJﬁ)QieiT Ll Qgﬁ@@@&n@m&uﬁ]s&r Cprésmisenear BN
CupUsrerariiLi L WpamDSHT wirame?

(1) Qsmfler 2 Mow

(2) swent @ wssSh

(3)  SwenpT @ cunenflus Gamerens

(4) Qurg geom Hireunsib

@) (1) wppud (4) ol Gid (B) (2) wigt> (3) wi i
(€) (1), (2) wimbd (4) 1L Gid. D) (1), (2), 3) wppw (4)
(E) efen Qsfweilevaneo |
B | 113 CCS1P/22
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167. The Monetary Pohcy of the Government of Ind1a empha51sed the
following two aims of the economic pohcy :
(1) To control and reduce inflationary pressure in the economy.

(ii) Speed up economic development in the country to raise national
income and standard of living of the people. o

(111) To increase the per capita income.

(iv) To have a cheap money policy.
Select the correct aﬁsWer by u_sing.thé codes given below :

(A) (i) and (iii) are correct

(B)V(Sand (i1) are correct

(C) (1) and (iii) are correct

(D) (1) and (iv) are correct

(E) Answer not known

@5Hw oirflen LETaINESS Asrererswnarg Qurmangrys Qardensullen Gereugrid

@reaw(® Cprastsaar cuelwmsgidemmg.

§)) Gurr@mrrgrrrygﬁab LeTeiEs S(pEsEmgs s HULHSSRD @mmﬂugﬁ)@.ﬁ

(i) Csflu eumorand wHmD wésafien mr@&m&; ‘SIS 2 WThS BT g6
Quirarngy eueriESlemw cﬁlmumu@g,s ‘

(i) soramorases afsfss. ‘

av) LoeSleqﬁ UeTEQE TN EESTS

GO Psmer Lwear@sHEF sfwurer eflent srfsu‘ur&.

@A) 6) wpgib (iii) surarmes
(B () vpgw (i) sRwréneney

© (i) wpgo (iii) shurermes

D) (1) whpgd (v) shuraree

(E) e Qsfiweidena

CCS1P/22 114 | B ¢
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168. Accordmg to. Indlan Tourism Statistics 2022 which tourist place is most

" 169.

_ v131ted by Foreign tourists?
(A) Taj Mahal

‘(B)_ Statue of Unity

(C ahabahpuram

(D) Varanasi

(E)

Answer not known

QrHw a;g)gjwrr yeted efleunin 20226 Lliq. a:(m;ﬂu.l‘[brn...@ SHmem uumﬂ&mnw eﬂﬁs
Siatedle s urrrr&a;uu@m SHOIET FoTd

Y
B)

(©)

®)
E)

ST LO@MIED
WCL.L& LI WeeTL_g.
wapruedyyd

eumyernél

Y AL T

Which one of the following is not addressed in Mission POSHAN 2.0?

Gy

®

©
D)

(E)

Malnutrition in children

Malnutrition in adolescent girls

Pregnant and lactating mothers . -
alnutrition in elderly |

.Answer not known

&@é&n@umw@@cﬁ g1 Guragen 2.0 S L o smplilrgg?

&)
®B)
©)

(D)

(E)

Gyhengsaficn oa L 555 @mgpﬁn@
Liflarnio euwgl Quekmaeian oo L 555 GpLUTD

- &l Gemiy GueaTseT HID urrgz_m'_@'l.b SMUIDTTSET

uwg phibsaunsaien ea Lsssg G@pUT®
eflen QgNwedeena -

115 - - - ~ CCS1Pf22
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170 Which of the following statements about Index of Industrial Productlon
(IIP) are correct? ‘ :

1.

3.

(A)
- ®
©

The IIP 1s a key economic indicator of the manufacturmg act1v1ty
in various sectors of economy.

IIP data is regularly published by Central Statlstlcal Orgamsatlon
(CS0).

The base year for IIP is 2011-12.
1and 2 iny
1 and 3 only
2 and 3 only

(D)‘/Z and 3

(B)

Answer not known -

19 etTeu(BLD &@Sma;‘sqﬂ@,. Qgr@_@@b@mm e pugfiler afiens (IIP) upPw sflwurer
DM TH?

1.

3.

(A)

B)
©

D)
(E)

f":‘tl‘éipizfz

I1P Granugj um@eugj Gun@mrrg:,ng siepaefien a_g)ugﬁ pL.GUlq.GSGFJBS&G!ﬂGDT
WéEw Gurmerrgmy @,r_f)larn_tq.u_:rr@m

IIP syeyser wgfu emafiudwed ammuu (CSO) - ama QQITI_IT‘LBQ]
quaﬂuﬁll_uu(Bé]DgJ :

 IPssnen aquumr_ e 2011-12 sy@b.

1. Hmid 2 WL Hib

1 Lo,rbgu_ﬁ 3 LDL_'.@LE)
2 wpmid 3 LG
1, 2 whmib 3

clftenL Glg,fﬂu_léﬁldmmw

e - | [3"
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171. Nehru Mahalanobis planmng model ‘was based on the followmg
strategies emphasised are '

Q) . ngh rate of savmg
(i1) Preferred a heavy 1ndustry
(i) Discouraged import substitution |

.(iv) Safeguard infant industfy ‘

(A) -(i) and (i1) cor‘rect'
B (), (i) and (111) correct

| (C)Vt' (i1) and (iv) correct
()] (1), (i), (iii) and (iv) correct:
(E) Ansvfrer'not known |

Cm(m- mam@pnﬁ]au ,QL.L_ wrSfl @mm@m Lgﬁaa)m adliynssdng. -
(@)  fsCsllly eﬁgm

(i) - semys GemPgiEE wargyfian

(i) Goacwd udd (H eassameamo

(iv) yHu AsmPesEE LTESTIL.

A () wppis (i) &

B) (@), (i) wpp (i) &
(©) (), Gi) g (iv) &M

@ 0, G), (i) oppid (V) s
EB) e Agfuedides

8 | IRt o CCS1P/22
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172. “British rule was established in India with the cooperation of Indians,
and had survived only because of this co-operation. If Indians refused to
co-operate, British rule in India would collapse with in a year and

Swaraj would come,” who said this? A
(A) Sardar Vallabhai Patel (B) Motilal Nehfu
(C)mahat'ma Gandhiji o (D) Bal Gaﬁgadhar Tilak
(E) Answer not known " |

- “@idwisailar  @ssempUGUT® %mcmmmm' %I_bc-] _.;F,]gjm.;.u.-_._'@; @5
ggimpuilamsd srar Gbs -8 Hepss@snarn GEéng. G@bAuisd gbgimpss
opssnd, @bHureds eyufGoufdn ap’f 60 m@l—ﬁé‘w oSipbgl arwrreasé‘ww'

| lDGU(ELD eremmy Sl wimi?
(A) sigmit eudeumd L GLe (B) IGmnﬁmrrd) Crm
(C) uwvargwr &nﬁﬁl@‘ | | (D) vre SESTST Hesi
B) doOpfudoms ,

| 173. In 1944, the Government of India setup a planning 'departmentfunder -
the Chairmanship of |

(A) S.N. Agarwal .~ (B) M.N. Roy
(C) Dr. John Mathai _ - (D}¥Sir Ardesir Dalal

(E) = Answer not known

1944-6 @pdu SirsrmED 565)@@@91@ &1p @@ AL g gja)mam-

THLGEHLE. | | |
(A advedn sstard  (B) erb.erén pmi

(C)'r Dr. gren womgmis | (D) sit 2iCsAT s

(E) e Qsfueidame

CCS1P/22 o - 118 | B
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174. Match List I and List II and select the cdrrect answer using the codes -
given below the Lists : - |

ListI o List IT

(a) Resignation of Congress Ministries 1. 1943
(b) Neil Statue Satyagraha 2. 1942 _

- (¢) Quit India Re_solution - 3. 1927
(d) Provincial Government of Free India 4 1939

@ ® . @
A) 4 3 1
® 2 1 4
oVl 3 2
M4 1 2
(E) Answer not known

LW = W N

afiws I oL ar afies I-aan) Qurmsd mlﬂaw&@é;@&,ggp Qar@EstLGarar
QangLguemer sflwiner eflenLulenans Gz flay Qeis.

auilans T - cuflans IT
(2) smidys Sewisremal ugell clwsd - 1. 1943 -
(b) feo Seva &g’;uirraﬂr;&da‘ 2. 1942
©) GeadreanuGer QaadGuLipy Sitoremd . 3. 1927
(d) szpdy @pHureien wrETeT HTFTESD 4, 1939
@ b © @
A 4 3 1 2
® 2 1 .4 3
€) 4 3 2 1
™4 1 2 3
(E) e Qgflwelldveney -
B : s . CCS1P/22
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175. Who was arrested by the British Government for the Bomb explosion on
1933 at Srivilliputur Police Station?

(A) Sathyamurthy (B) Parthasarathy

(C)\/famaraj A : | (D) Ananthakrishnan

(E) Answer not known '

1933-b @ wllodugn srad Boousdd QaeH( Gossspens
2 EEAGCW SiFFTe) ensg Qeliw DUI'_I_QJfr’qurfr?

B)  ssPuepiss B) unigpsmg

(©) smopmg (D) sionpslagens

E) oL Asfusidme

176. What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923?
(A)Vﬁe problem of the Rupee
(B) Caste system
(C) Untouchability in India
(D) Unbritish Rule in India
(E) Answer not known

1923 b g emiged GLog)Ga;rrmrL LrsLf B.R. wbCugsriean qpevereuir Ll

uielle ZeneLiL] ereimen?

(A)  eumfen Siréflevar

(B) & iy |

©) @pSureiier S menio

D @pdurdie s rufCawui Goong Qy'_aﬂ
(E) e QsRwelcrena

CCS1P/22 o 120 : - B
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177. Which of the followmg is incorrect?

(A) The Indian Natlonal Congress boycotted the First Rourid Table
Congress :

(B) Gandhiji attended the Second Round Table Congress

© ter the Second Round Table conference the Gandhi-Irwin pact
was signed :

(D) Communal Award was associated with Third Round Table
Conference |

(E) Answer not known

© Slemeu(heuaTeuDBled SeummeTeney erancu?
(A) s el Coene wapm_erL @pHw Cadu srisdyed q'gpésesavﬂgg,gj
(B) asnmpHe @uekrimeug eul L Guowme OABALtg 6 LRICEDHDTIT
(C) @ram_roug el Goenes rpm iy bHE Weny srbS-Gielldr glin HSD THLIL L g
D) aswgaﬂsu Sieuni® apempd e L Goams wrprGLi Qg;rn_rruem_u_lgj
- (E) Qe Gg,rﬂu_laﬁlsumm

178. Damm -1-koh’ was the land glven by the Br1t1sh to the f
(A)\/glnthal tribes |
(B) Kolu tribes
| (C) Garo tribes
D) Munda tribes
(E) Answer not known
‘L mflen-@)-Gang’ eréngaitd Pt ey Gawiaanme 5@ QuPRSLILLL g
(A)  spgne LphiEg et |
(B) Cané Lipiugg e
(C) &Gy LG g ufle
D) ewLn u@@gquﬁ]mr’r
(E) oferr Gpflucidveme
B | 121 | CCS1P/22
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179 Acid rains are produced by

(A)Vgicess NO2 and SO; from burning fossil fuels

(B) Excess production of NHs by industry and coal gas

(C) Excess release of carbon monoxide by 'incomplete combustion
(D) Excess formation of COz by combustion and animal respiration
(E) Answer not known

e emLp GTHEIGD &@@Jrra%rpg;]

(A) Ui er@Qurmenar Gnﬂuug,rrso Qeuefleumd aﬁa;uuqmrrsm NOz wpgib SOz
epevtd

(B) <ifsugwrer (NHs) 2 pugd whHgd Ligo ﬁa)asasrﬂ Gy ApPEOLD

€) efsuguner s Goraméms( pEpeowTs erildEsuuLmod GHLug)

(D) <fstukguines vweaTuTLHD a;rﬂu.u&mmnu uagogju) elavbfler souns (PEODSET
)

(E) e Qsflwaleeme

180. Why i1s the Himalayan region poor in. mineral resources?'
(A) isplacement of rock strata has disturbed the arrangement of

rocks and made it complex
(B) It is made up of crystalline rock |
(C) The terrain makes exploitation of minerals difficult
(D) The climatic conditions are not suitable for exploitation of minerals

(E) Answer not known

Guuiweamal ugilsafie) saflo euartiser eem @smg)eurrés 2_GITeTTent ?

(A)  urep SGEGsafer @LUQUWTER urrmgja;aﬂén sienolienE EiGonSE s
fagansdlijeTerg

B) @& ugsl urepund <y '

(O) ﬁeuuuuuqmuﬂmrm;m THULMS Sy aTonEGHng

D) slu@eutiuflena seflomiEer THLUSHEG FDDS0®

(E) efenL QsNwcliicoene |

CCS1P/22 : 122 - B
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181. Consider the statement given below and choose the correct answer:

Assertion [A]:  Cultural diffusion is the spread of cultural beliefs and
social activities from one group of people to another

Reason [R]: | Cultural landscapes have been defined by the world -
heritage committee as cultural properties representing
the combined works of nature and of man

(A) Both [A] and [R] are true: [R] explains [A]
(ngth [A] and {R] are true: [R] does not explain [A]
(C) [A]is true [R] 1s false
(D) [A] 1s false [R] 1s true

(E) Answer not known

Spasrapd ecursflutismars smeSla Gamemr ([ G]a;rr@a;asuuL@mman)@su &rﬂu.rrrm

cllenL_anuwig G;srrsq Qalweytd.

spm [A]  : serssmpn ureue aeILg SQNESTT HOUSMESET DOHMD &IPS
Qswdur@se @m Geildl®hg LHGDT® GpelDEGL LFaSTELD.

smpewrd [R] :  sordsty  flosCsmppd g “Quipers P  welgalar
RORE@aHE LLILEmaS GHSEGL seonFsmy Lai s eTGnT
2 sl urpbuflws @@a.lrrsi) Gusmumgjé;asuul'_(aehmg,j

(A)  spm [A] womb [R] SyeRtd @Usow@m &fl : Empp [A] STyamD [R]- -&ama

" gflwner efleTdsid

B) | ah;j)@ [A] wogb [R] snrewrd @rewr@id &rﬁ : Fdm) [A] stpenrd [R]-seren

- sflunar ederéaiode
(C) sapm [A] 5 sryenrd [R] seumy
D) o [A] seup sryemd [R] sfl
E) . oL Apflucdome

B 123 .  CCS1P/22
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182. Asthamudi is an important lagoon of the coast.

(A alabar coast (B) Konkan coast
(C) Cholamandel coast - (D) Northern circar coast
(E) Answer not known | |
SIGVSM(Plg GTETD (PSEWL SHLIED . : _. — sLhsemruier sremuuBdlanng.
(A) wveursLpsomy (B) Qarusrew s_bsemr
(C) Gsmpwan_ o s_psewy (D) eaisignt s_phseny
(E) elen Qzflualicrana
183. Which of the followmg statements are true about population growth of
- India?
1) - Bihar, Uttarpradesh Madhya Pradesh, Rajasthan and Orissa,

which constitute 44% of the total populamo_n of India in 1996.

(i1) Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa,
which constitute 48% of the total population of India in 2016.
(111) These states contributed 70% of the total increase in population of
the country during the period of 1996-2016.
“(A) (i) only (B) (i) and (iii) only )
(C)m and (i1) only " (D) (i) and (iii) only
(E) Answer not known |

Qiguirellen wasL Ggnans eueridd upblw KWaraumbd smpmsais sfluretmes eTameu?

(1)
(i1)
(111)

A)
©)
(E)

CCS1P/22

Serir, 25ArGrCsen, wsHLIATCssD, @rrgevsrdr whmb efst, 19960
@pdwureler Quorss waa Qgraauie 44 ss6igb <ELWD.

Ssrir, 2587 n95Gssb, wsALIAFGssLD, @ungdugrrsﬁ whmib efler, 20166
@bdwneler Qurss Loé;a;L'_ Qgrensufier 48 #56i50 i,EL0.

1996-2016 b srew sl L gHé prlyen Qwrss wEs G];_r,rrema; <@ finde
CopaerL. wrr;ﬁ]wrm&;m 70 sgeisb unisaigger.

(1) w @b ' (B) @) mg)r_mh(iii) LbL@Lb
(1) wpmibd (ii) wI_{HLb (D) 1) womb (111) w Fb
aflenL_ QgMwsllevana |
124 ' ' B
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184. Choose the right matches

1.  Khizr Khan L= Oi‘issa

2. Durgavati _ Gondwana
3. | Rana Udai Singh —  Mewar

‘4. Kunwar Man Singh - Ajmir. |
A 1 and 2 are cofrecf_

(B)/Zand 3 are correct

(C) 1 and 4 are correct

(D) "3 and 4 are correct

(E)

Answer not known

Fhwmen @er@;},g,ré;&mm Gsire) Qeliwe|b

1

2
3.
4.
(A)
B)
©
D)
(E)

&g snen o N @rﬂ&ﬁ
gjr'rq;rrajg‘) ' ~  Gamer_eumenm
e 2 Su1SIhs —- Queunm

~ &EGUIT Lome Slrés — @i

1 whmib 2 shwrerened
2 wpgid 3 sflwrereal
1 womb 4 sflwrenanay

3 wpmw 4 sflwnerema

eflenL Ggflweleana |
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185. In A.D. 1894, the Kashi Nagrl'i' Pracharini Sabha was founded in

(A) Delhi | (B). Bombay

(C)Vﬁadras ‘ (D) Calcutta

(E) Answer not known

£.9. 1894 @é> srél paM Ayssmia sLm —6 BipauiutLg
- (A) Q:_ei)e& | . : (B) wwbum |

(C) Quigmév - ‘D) sosss

(E) eoSer Qsfuelevene -

 186. Who was the first person to-place the demand for a separate Muslim

state in British India?
(A)/ﬁohammad Igbal

(B) Muhammad Al1 Jinnah
(C) Rahmat Ali

(D) Mountbatten

(E) Answer not known

Gflligey @pdHluimelie, (g)g,sm (y)g,sﬁ'lco @psmsﬁma@asesrrm gl prE Csmismaamw

APEITENEUSSEUIT WITT?

(A)  sibog GéLmed

(B) ~(yaa;tbmg,1.c°qeﬁ1 éleinaﬂrr.
(©) e =i

(D)  weyewr Cui_L e

(E) e Gzfweferency
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187. Assertion [A] : Federalism is merely an institutional arrangement for
sharing power across multiple levels of government

based on the principle of shared rule and self rule.

Reason [R] : Féderations, have constantly adjusted and adopted
o depending on political, social and economic situations.
(A) tA]is true but_ [R] is false - |
(B Both [A] and [R] are true and [R] is correct explanation of [A]
(C) [A] is false but [R] is true | |
(D) .Both [A] and [R] ére true but [R] is ﬁot thé correct explanation
of [A] v

(E) Answer not known

apmy [A] salLMl8) erenug Uil U4 mﬁ)gub s U A ergyd
Qanmerensuier SiguueLler Siremus  Hneamsaien e

Benesafler flamgl ureuenad Asnamhereng.

‘GBHU'GMTLb [R] : sl L ST, é{rj&]u_ieb,.a(g)es LDHILD Qun@drng,rrg GrasCahL
gti;an-m Qgrréfluns er.lﬂ Qg SaHeuamGF 6 Hamardlemmen. | |
(A)  [A] sl yaer [R] paup |
" B)  [A] wpmid [R] el wpmip [R] arerg [Aler sfuner darssi
© [A] sap e [R] ol
D) [A] wpgid [R] 5 <gyame» [R] ranig) [l sfiunan earssid sidoe
(B) oo Qpfiuciome |
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188. Which of the following statements are true about Buddhism?
- 1. Buddhism denied the authority of Vedas

2. Buddha’s teachings were largely based on Brahmanic ideas of

Punarjanma, Karma and Moksha
3.  Buddhism was not practical and ethical
4. Buddhism accepts God as creator
(A) 1, 2, 3 are correct |
(B)¥ 1 and 2 are correct
(C) Only 2 is correct
(D) 3 and 4 are correct |

(E) Answer not known

E1p& @gﬁlurﬁh_uu@uéug'jg‘)kb Quergs g GNIss sflwrer sapep Coiey CFwis.
1. Quarggid Cousmsaflan oydsasams wysdns

2. @udrg,g, Gungenanser wYADLiL;, Gibm &b, Siwr 28w Qymoets a;@ggé;a;a)m

Sl UueL nssE Qe g)
3. Querss perLpep whppid ApHlapepubps)
4. QUETSSLD SLGener) LIHL LILIGUITS erihmis Qa;'rrdw%]g)gj
A) 1, 2 wHmwb 3 &
(B) 1 wpmb 2 s
C) 2 uwli@wesed
D) 3 womw4 &rﬂ-
(E) e9eni G]g,rﬂu.naﬁ]sb@su .
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189. Which of the following statements about the Guptha society is true?
The Guptha emperors called themsélves as Parama Bhagavatas
Trade with Rome an_dChina flourished

Women were debarred from .exercising public rights =

N R

The custom of Sati was practiced by them
(A) land3 gfe correct

(B) 3 and 4 are correct

(C) Only 4 is correct

(D)__sz and 4 are correct

(E) Answer not known

' Epsaiudiu@ueapiie GUsTsT sraF sapsmubd Ghss sppseaid slurarama

Grmeu?

1. GG SATEFTEET FRGHETL LTLLITSST T SipSE)& Qs TarTLani
. 2. §amré41.gub, (Siyrr@l_.@lm eflwrunybd GefiSss

3.  Qurg fspédlsatia URIGAUD QUETEETEES S @@(r_'r)g@

4. 2 L enalanl gD Lngés&Lb @@;bgsg! | |

(A) 1 wpgid 3 s
(B) 3 ioppud 4 o
© 4wipnbsh
D) 1,2 oppo 4 5
E) e Qpfueioms
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190. Why Ulama’s had great influence in Muslim society, politics,

administration and religion?

(A)

®)

(©)

@)

(E)

They were in great'number's during the-'Delhi Sultanate
Due to their holy living and high thinking

hey 'Were well-versed in Muslim theology and Figh.
They controlled trade and industry

Answer not known

© (pevedib Fapsd, SipFwe, HliTeurad wHmib wHh HweDHeL 2 WITESET e QU@Lb

- Qsdeuns@s QeqsSanmiser?
(A)  sauisd Qi sasrasssd 25 aarasmse Bopsat
(B) Q@Jr'ra;aﬂsin yefls a.trr@&ma; HQID 2 LGS SibS®aT SO
(&) &mr’r&s& éodusﬁm Gerplwe Hmb &L‘ﬁés. s fuapdler pang Csréd
Qupdlbgent
D) e TEET UGS LHmID Qsmflegiempnenwis 5L@Du®§,§16ﬂ'ﬁ
(E) oo Qsfweldane
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191. Which of the following are wrongly paired?

(1) Obligation for the state and - Art 48A
individual to protect environment
(2) Early childhood care and education - —  Art 45

for all children until they complete the
age of fourteen years _
(3) Separate judiciary from the executivein — Art 39
- the public services of the state

(4) Voluntary formation, autonomous — Art 44
functioning of cooperative societies '

(4) (1), (3) and (4) only
B) (), (3) and (4) only
(C) (1) and (2) only
O)VT3) and (4) only

(E) Answer not known

emeuheuaeuD Pl Seumns @)eneRTHEILIL L N6l cTaney?

(1) sppéGweol uTEETES 7S wHn sefipufler sLamn  — | a8 48A

(2) <soass GYEossEREEL 14 auwg Apyub euamT - e9g 45
GLpheng Ligheu LIFTAUy LoLi)QJLB &evell _

(8) wrhasder Aurgs Ceeeusaian HieunssHamHs G 39
sl ffisgion . |

(4) senanniveu 2 (MEUTESLD, Ll HiDey shshGeTan ganarmld  — ofld 44
Csweur®

4) (D), (3) wpmw (4) LLEL
B) (2, (3) wpmd (4) LLED
©€) (1) wppn'(2) LED

D) (3) wigd (4) w{Hid

(E) efenr QsMwedlcrenes |
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192. Assertion [A] :

~ Reason [R] :

Rule of law entails that all persons, both public and
private institutions, the state and other entities are

accountable to publicly promulgated léws,.

The rule of law forms the base to international peace

~ and security, and it is at the core to protect people’s

rights and their fundamental freedom.

(A) [Alis true but [R] is false

(B) Both [A] and [R] are true and [R] 1s correct explanatwn of [A]

[(®) [A] is false but [R] is true _
(D)\/ﬁoth [A] and [R] are true but [R] is not the correct explanation

| of [A]

(E) Answer not known

smpm [A

STJeRTLD [R]

sl gdlen U H aramug <ins wHpL saflunt Hpuamseiio
2 GTar  Jyepereu(hd OHMD ATH wHmn Yp HpeuanbtisEnn

Lo&semmed @uidmui’ L &l'_l_‘e_'r,ﬁg_i)@ Qurpliureneuigar.

slLglen o4 erenug Lenem(H a{émmra_‘,l LHPD LTSI
SigLueLude 2 meureng). Gogib g@ wé&seflen 2 Menosenemb

Sleuiigeaflen .zguq_uucm_ a;gp,é,!ug,smg,u.;m STULG &S erendlmg.

Q) [A] aremuig) & syenmad [R] Grsmugj Seum)

(B) [A] womb [R] @rempuo sl wpmd [R] Grsmug] [Alen eftwinar cflenéaLomELd

©) [A] seuny e [R] eramug &R

(D) [A] wpmd [R] eréirug A <yammed [R] eremmugy [A]Ginétﬂu_lrran chleTé D iede

(E) &L Qsflueioeme
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193. Identify the incorrect statement aBoﬁt ‘Lok adalét_
(A) Lok adalat is a mechanism for speedy trial of the disputes
- (B)Ais not a tool of the legal éystem '
(C) Itisa ki:qd of forum to settle cases in an amicable manner
(D) Lok adalat goes to the i:)eople to deliver justice at their doo;' steps

(E) Answer not known

‘Coords e;gna)§’ ugj)gﬁluj seupren eunsHGens ser_Hlweyd

(A) (Bt:wrré; génmg Grénug é@ aupSGSEeneT aﬁla)u‘rj,g,j_ W Esaude Qewuaeamoli |
B) Bs E St smedl Side |

(€). @ée’s@a;mm &m;rg;rrém apenpulied @)L}Gl]é@ Qfsrrlaiur@mu‘@@ AUDSWLITRT LOETHLD
D) Cons wgres waser aurshLg 665 Qedngy ﬁ@mgn‘u@eﬂmg

(E) efen GzMwedicvana
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194. Which of the folloWirllg statements is/are not trl_ie about the ‘governor’?
(A) He ;':Lppoints the Advocate General of a State
(B;)‘éa appoints the Chancellor of Universities in fhe State
(C) He appoints the Chief Minister |

(D) He appoints the state Election Commissioner

(E) Answer not known

‘wmrfled Sp@sHr LD &Qé&c&cm aursSlunigeatled ag,]lamm SeUDTENg)|?
(A) wrie goaaw mg;é;a;@-@mqﬁlmﬂé;@mm‘r ‘

(B)  wrflel udsme spsusafiar Ge by Huibladpmi

©) semvismr BLBESpT

D) vrfe Csigd wfsrleaw fulsdpmi

(E) &l Qfusideame
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~ 195. Match the following:

Subject Protected Year of the enactment
(a) Beedi and Cigar worker 1. 1979
(b) Contract labour | | 2. 1976
(c) Equal remuneration 3. 1970

(d) Migrant workmen Employment
Regulation . ‘ 4. 1966

@ ® © @
A 1 2 3
BVE 3 2
€ 3 2 4
M 2 3 4
-(E) Answer not known

=

SpsEeRT_aupemLy G]urr@.{r,gj'a; :

LN ETSS60 . o Quppl’ e eTH
(a) Sy wﬁ)gjtb eﬂas@uL Qsrfleomeniger 1. 1979

| 1976

1970

1966

~(b) @uu;bg,g@gﬂ@wnmﬁagm

 (c) am'aargﬂu_ub

oo 1o

(d) yewQuw angp]aulrmﬁ

CeuspaaumilL @(pRSTHISHe

(@ ® © @
(A 1 2 3
B 4 3 2
© 3 2 4
M 2 3 4
(E) eden QgRweaency

e -
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196. Need for a constitution for free India was first suggested by
(A) Motilal Nehru
(VM N. Roy
(C) Subash Chandra Bose
(D) Mahatma Gandhi

(E) Answer not known
eég‘tbé]rf@‘lj,ﬁmmﬂﬁ)@ @ pFanoliLF &L 1b CeuammHid erew @g,eﬁeb ufibgienrdseul
(A) Guwnrfered Cum | |

(B) M.N. gnul

(C) sunay sy Cunay

(D) wansworsrHH
(E) aﬁ]mi_'QgﬁluJeﬁld)a)a)-

197. In a Modern Democratic state, citizenship is a
(A) Natural right
(B) Legal Right
(C}//Statutory right
D) Fundamental rlght

(E) Answer not known

@@ Beler wasemr_& 'I'_F)ITi;l.q.Q'J, Gigwflenwo eramug
A) Quies 2 few | |
(B) &L = fewo

(C) prmenwemé s L o Aedio

D) a@ruum._ 2 flenw

(E) oo Qsfwefldena
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198. Match the following:
(a) Pitt’s India Act, 1784

(b) Charter Act, 1813

(¢) Charter Act; 1833

- (d) Indian councils Act, 1861

@ ® © @
(A) 1 2 3 4
B3 4 2 1
(C) 4 3 2 1
M1 3 2 4

(E) Answer not known

Sipsaareubenhll GUMTIBESS :
(a) 9_@pHws s b, 1784

(b) srnsens s b, 1813

(©) ermsengsLib, 1833

(d) @sdwus seyedle s 1b, 1861

@ ® © @
A 1 2 3 4
B) 3 4 2 1
C) 4 3 2 1
D) 1 3 2 4
(E) efer Qsflwelcrene

VD a;mr'rmr'r—@gmﬁcﬁle&r

. - Decentralization of the legislative

powers of Governor-General
Governor-General’'s Government
was known as Government of
India for the first time

. . Appointment of Board of control

of six members

Deprivation of East Indies
Company’s monopoly of trade in
India

sl Slwihmib
Siflstyhsmer  JHSTIU  LIFIRTESLD
@slize
(PSRTAPEOHLITE
SITESD  @EPU  SIpETRSD e
SIDPESHLILILL G|

<M 2 Mubenngemnensd Qe
sU.AUUIC® eurflwd HubllssiuBsed
@pdwurefer SpsdpHws sbGueiudier
aigsas apomfleenws GopsSse

Fauitemi-Glgpeyedle
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199. Which one of the following statement(s) is not correct about the Indus .

Valley People?

(i) The Indﬁs Valley People worshipped trees and animals

(@) The principal deity' of Indus Valley People was Krishna

(111) The Indus Valley People worshipped fire and water

(iv) The principal deity of Indus Valley People was mother goddess
(A) (@) and (in1) only

BV only

©
D)
(E)

(1) and (11) only
(11) and (111) only

Answer not known

Spsaam_cupmer Akg wsmarts uHBlu Seuprear by (sear) agl/eaeu?

(1)

@11
(111)

(iv)

A)

(B)-

©
D)
(E)

CCS1P/22

8 Geuafl wéser b LHHD eNwkiGsmers sLaemns eu L e
ApgPeuatl wasafler (p&flwd sLeyer Hpegpanri |

Spgdesall wésaT ALY WHmID Benrd SLatemns cuyfluil L et
8ibg|GQeuatl asaflan psflws sLeyer Quer Qglieukiser |

@) wpgd (1il) w Gb

(11) wl P

(1) wpmib (i1) v Hb

(11) wpmyb (i) w b -

efler QzAwedaene
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: 200. Who said, Delegated legislation and administrative tribunals are the

manifestation of “New de§potism”?
(A) John E. Kersell

(‘B)l Sir C.ecil Carr

(C)‘/ﬁ)rd Heward

(D) D.L. Hewit

(E) Answer not known

&I'_I_LISIUJ[i)Qij- sflsmr  @uuesL Uy,  Hlieunss ‘é’;ﬁDUWturéjas@Lb, ‘U
giaundanysden Qéuaﬂﬁurr@ eTand Sadlweuir wir?
(A) gren. E. Qsi@sd
(B) & éhﬁsi) &I
(O eniC ghleouni@
D) D.L.‘@laﬁh;
(E) aﬁlm@@glﬂusﬁl@mm
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answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated. : E

" Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select

ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
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